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Two-line Display

FAOEHET

4543543387

The twa-ine display makes it possible to view both the calculation formula and its result at the same fime.

e The upper line shows the calculation formula.

e The lower line shows the result

A separator symbol is displayed every three digits when the integer part of the mantissa has more
than digits.

Before getting started
Modes

Before starting a calculation, you must first enter the correct mode as indicated in the table below.

To perform this type of
calculation:

Perform this key operation:

To enter this mode:

Basic arithmetic calculations MODE a 1 COMP
Standard deviation MODE a 2 SD
Regression calculations MODE a3 REG

o Pressing the MODE key more than once displays additional setup screens. Setup screens
are described in the sections of this manual where they are actually used to change the
calculator setup.

. In this manual, the name of the mode you need to enter in order to perform the calculations
being described is indicated in the main tills of each section

Statistical

Example: Calculations

. To return the calculation mode and setup to the initial defaults shown below,

=) (@8 (2)(Mode) B3,

Calculation Mode
Angle Unit:

Exponential Display Format:

Fraction Display Format

Decimal Point Character .

.COMP
.Deg
~Norm 1
.ab/c

. Dot

. Mode indicators appear in the upper part of the display.

. Be sure to check the current calculation mode (SD.REG, COMP) and angle unit setting

(Dog, Rad, Gra) before beginning a calculation.

©FASTCRa.s.
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Innui Capacity

The memory area used for calculation input can hold 79 “steps,” One step ls taken up each
time you press a number key or arithmetic operator key ( [, ﬂ ). ASHIFT or
ALPHA key operation does not take up a step, so inputting SHIFT or .. for example, takes up
only one step.

You can input up lo 79 steps for a single calculation. Whenever you input the 73rd step of
any calculation, the cursor changes from *_” to “BI” to let you know memory is running low.

If you need to input more than 79 steps, you should divide you calculation into two or more
parts.

Pressing the Ans key recalls the last result obtained, which you can use in a subsequent
calculation. see “Answer Memory” for more information about using the Ans key.

Making Corrections During Input

Use < and > to move the cursor to the location you want
Press DEL to delete the number or function at the current cursor position.

Press SHIFT INS to change to an insert cursor kkk. Inputting something while the insert
cursoris o the display insert the input at the insert cursor position,

Pressing SHIFT INS, or = return to the normal cursor from the insert cursor.

Renlay Function

Every time you perform a calculation, the replay function stores the calculation formula and
its result in replay memory. Pressing the A key displays the formula and result of the calcula-
tion you last performed. Pressing A again back steps sequentially (new-to-old) through past
calculations.

Pressing the < or P key while a replay memory calculation is on the display changes to the
editing screen.

Pressing the < or » key immediately after you finish a calculation display the editing screen
for that calculation.

Pressing AC does not clear replay memory, so you can recall the last calculation even after
you press AC.

Replay memory capacity is 128 bytes for storage of both expressions and results.

Replay memory is cleared by any of the following actions.

When you press the ON key

When you initialize modes and settings by pressing SHIFT CLR 2 (or 3) =

When you change from one calculation mode to another.

When you turn off the calculator.

Error Locator

Pressing <« or P> after an error occurs displays the calculation with the cursor positioned at
the location where the error occurred.

Multi-statements
A multi-statement is an expression that is made up of two or more smaller expressions, which are
joined using a colon ( )

1 Rroiwaionl > Y = ]

Example: To add 2 + 3 and then multiply the result by 4
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Exponential Display Formats

This calculator can display up to 10 digits. Larger values are automatically displayed using expo-

nential notation. In the case of decimal values, you can select between two formats that determine

at what point exponential notation is used.

«  To change the exponential display format, press the MODE key a number of times until you
reach the exponential display format setup screen shown below.

Fix Sci Norm

. Press 3. On the format selection screen that appears, press 1 to select Norm 1 or 2 for
Norm 2.

NORM 1
With Norm 1, exponential notation is automatically used for integer values with more that 10
digits and decimal values with more than two decimal places.

NORM 2
With Norm 2, exponential notation is automatically used for integer values with more than 10
digits and decimal values with more than nine decimal places.

* Al of the examples in this manual show calculation results using the Norm 1 format.

Decimal Point and Separator Symbols

You can use the display setup (Disp) screen to specify the symbols you want for the decimal point

and 3-dlglt separator.

«  Tochange the decimal point and separator symbol setting, press the MODE key a number of
times until you reach the setup screen shown below.

Disp
9

«  Display the selection screen.
1i»
«  Pressthe number key 1 or 2 that corresponds to the setting you want to use.

1 (Dot):  Period decimal point, comma separator
2 (Comma): Comma decimal point, period separator.

Initializing the Calculator
o Perform the following key operation when you want to initialize the calculation mode and
setup, and clear replay memory and variables.

o) (o) () (A1) D
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Basic Calculations

Arithmetic Calculations

Use the MODE key to enter the COMP Mode when you want to perform Basic calculations.
COMP MODE 1

. Negative values inside of calculations must be enclosed within parentheses.

sin—1.23 — (&) (OE1 1230
. It is not necessary to enclose a negative exponent within parentheses.

sin2.34 x 105 — () 234 BEED 5

o Example 1: 3%(5%10%) = L.5x 107
sE@smE o8

xui:] + rjen] =]

Example 2: 5%(9+7) = 80
Fraction Operations
Fraction Calculations

«  Values are displayed in decimal format automatically whenever the total number of digits of
afractional value (integer + numerator + denominator + separator marks) exceeds 10.

R S ST
o Bamplet: =T
2603 1685 13.415.
1 2 11
o Bample2 3+l =dog
3[ek) 1 [a%] 4 B
1EE 26038 411412,
g =y
. D ——=— lek] 4
Example 3 ;. 7 2R 43
* Example 4: %«-1,&:2.1 283188

. Results of calculations that mix fraction and decimal values are always decimal.

. Decimal + Fraction Conversion

. Use the operation shown below to convert calculation results between decimal values and
fraction values

. Note that conversion can take as long as two seconds to perform.
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Example 1: 275 =2 % (Decimal - Fraclion)

2758
C

«= 0.5 (Fraction == Dacimal)
16 2E

Example2:
2

Mixed Fraction rrr Improper Fraction Conversion

Example: 1

5

3

1@e@ia_Los]
@@ 5
o] o

You can use the display setup (Disp) screen 10 specify the display format when a fraction
calculation result is greater then one.

To change the fraction display format, press the MODE key a number of times until you
reach the setup screen shown below.

Disp
1

Display the selection screen.

1

Press the number key (1 or 2) that corresponds to the setting you want to use.
1 (@"°/ ) Mixed fraction

2 (d/c):  Improper fraction.

An error oceurs if you try to input a mixed fraction while the d/c display format is selected.

Percentage Calculations

Example 1: To calculate 12% of 1500 (180) 1500 EM 12 &+ [%]

880 =) [%]

Example 2: To calculate what percentage of 880 is 660 (75%) BB0
Example 3: To add 15% onto 2500 (2875) 2500 EM 15 &0l [%)
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«  Example 4: To discount 3500 by 25% (2625) 3500 EB 25 =
«  Example 5: Todiscount the sum of 168, 98, and 734 by 20% (800)

168 €3 98 € 734 B (o) ) 610 ()
OB 20EEE

. As shown here, if you want to use the current Answer Memory value in a mark up or discount
calculation, you need to assign the Answer Memory value into a variable and then use the
variable in the mark up/discount calculation. This is because the calculation performed when
% is pressed stores a result to Answer Memory before the - key is pressed.

. Example 6: If 300 grams are added to a test sample originally weighing 500 grams, what is
the percentage increase in weight? (160%)

300 E3 500 ) (%)

. Example 7: What is the percentage change when a value is increased from 40 to 46? How
about to 48? (15%, 20%)

46 & 40 b (%)
ERENCHENENETEY = |

Denrees Minutes, Seconds Calculations
You can perform sexagesimal calculations using degrees (hours), minutes, and seconds, and
convert between sexagesimal and decimal values.

. Example 1: To convert the decimal value 2.258 to a sexagesimal value and then back to
a decimal value

22508
) 15266
o) 2258

. Example 2: To perform the following calculation:

12°34'56" x 3.45
12 (5 34 2 56 5 ER 3.45 83

FIX, SCI, RND
. To change the setting for the number of decimal places, the number of significant digits, or
the exponential display format, press MODE key a number of times until you reach the setup

screen shown below
Fix Sci Norm
k-
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Press the number key (1, 2, or 3) that corresponds to the setup item you want to change.
1 (Fix): Number of decimal places
2 (Sci): Number of significant digits
3 (Norm):  Exponential display format

Example 1: 200:7x14= 200 E37 €3 1463

i i
(Specifies there decimal places). [+ LLI(FiX) (4]
(Internal calculation continues using 12 digits). 200 Kl 7 IE1 28.571

148 400.000

The following performs the same calculation using the specified number of decimal places.

o0 ER7ER 28.571

(internal rounding) ) [fn) 28.571

148 399.994

Press () +++ (3}{Morm) (3] to clear the Fix specification.

Example 2: 1 = 3, displaying result with two significant digits (Sci 2)

.. [2)(Sci) (2) 1 @338

Press @ st @(NOII’T‘!) m to clear the Sci specification.

Memory Calculations

Use the key to enter the MODE COMP Mode when you want to perform a calculation using

memory.
comP MODE 1
Answer Memory

«  Wheneveryou press = after inputting values or an expression, the calculated result auto-

matically updates Answer Memory contents by storing the result.

In addition to =, Answer Memory contents are also updated with result whenever you press
SHIFT %, M+, SHIFT M- or SHIFT STO followed by a letter (A through F, or M, X, or Y).

You can recall Answer Memory contents by pressing Ans .

Answer Memory can store up to 12 digits for the mantissa and two digits for the exponent.
Answer Memory contents are not updated if the operation performed by any of the above key
operations results in an error.

©FASTCRa.s. 10-EN



Cnnseculwe Calculations
You can use the calculation result that is currently on the display (and also stored in Answer
Memory) as the first value of your next calculation. Note that pressing an operator key while
aresult Is displayed causes the displayed value to change to Ans, indicating it is the value
that Is currently stored in Answer Memory.

e The result of a calculation can also be used with a subsequent Type A function
(6%, ., ¥, DRGM), +, =, A). 4~ ", =, nPrandnCr. and nCr.

Independent Memory

«  Values can be input directly into memory, added to memory, or subtracted from memory.
memory is for i totals.

«  Independent memory uses the same memory area as variable N.

«  Toclear independent memory (M), input 0 SHIFT STO M (M+).

20+9=32 23 €3 9 &= &9 (W) (M+)
53 — 6=47 53 B 6 )
~) 45 % 2 =90 45 B3 2 &) @)
(Total) ~11 0 () (M+)

Variahles

. There are nine variables (A through F, M, X and Y), which can be used to store data, con-
stants, results, and other values.

«  Use the following operation to delete data assigned to a particular variable;
0 SHIFT STO A .. This operation deletes the data assigned to variable A.

«  Perform the following key operation when you want to clear the values assigned to all of the

variables.
SHIFTCLR 1 (M) =
1032 + 23 = 8.4
1032 - 28=6.9
193.2b= EO (A E 23 B3
[EHEN] - Jei] =]

Specific Function Calculations [&SSLUL:S

Use the MODE key to enter the COMP Mode when you want to perform basic arithmetic
calculations.
COMP MODE 1

o Certain types of calculations may take a long time to complete.
. Wait for the result to appear on the display before starting the next calculation.
e m=3.14159265359
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Trmunnmalnn/lnvarsa Trigonometric Functions

To change the default angle unit (degrees, radians, grads), press the MODE key a number
of times until you reach the angle unit setup screen shown below.

Deg Rad Gra
A

. Press the number key (1, 2, or 3) that corresponds to the angle unit you want to use.

(00° = gladians =100 grads)

. Example:

Example 1: sin 63°52'41" = 0.897859012
=

() 6363 52

Examplo 2 cos (- ra)- 05

=
[cfeslleal - K
2
Examplo 3: cos™' 2 = 0.25 (rad)
) - (2] (Rad)

[llualcaly - Plaal - Joof - Tfeal -
Example 4: tan~' 0.741 = 36.53844577°
=

@ (eg)
960074180

Hyperbolic/Inverse Hyperholic Functions
. Example:
Example 1: sinh 3.6 = 18.28545536 [(w) () 3.6 B3

Example 2: sinh ' 30 = 4.094622224
() ) @) 30 &

Common and Natural Logarithms/Antilogarithms
. Example:

+ Example 1: log 1.23 = 0.089905111 1238
+ Example 2: In 90 (= log, 90) = 4.49980967

[GF] -]
Ine=1 Bwoa
* Example 3: ¢'° = 22026.46579 =E 08
« Example 4: 10' = 31.6227766 = ) 158
+ Example 5: 2'= 16 2A14E
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Square Roots, Cube Roots, Roots, Squares, Cubes, Reciprocals, Factorials, Random Numbers, 7, and
Permutation/Combination
. Example:
Example 1: V2 + 3 % [ = 5287196909
[ca Y Yealel - JCalf - |
Example 2: %5 + *(—27 = -1.290024053
[Z2ital] + IsTivajusiEyrdun] - |
Example 3: 123 (- 120) = 1088647795

701238

Example 4: 123 + 30" = 1023 1230008

Example 5: 12° = 1728 e
Example &: =12

[iklra] — Pirajusira) - ]

Example 7: 8! = 40320 1Tl = |

«  Example 8: To generate a random number between 0,000 and 0.999

L —)

(The above value is a sample only. Results differ each time)
. Example 9: 3z = 9.424777961 sEmea

. Example 10: To determine how many different 4-digit values can be produced using the
numbers 1 through 7. Numbers cannot be duplicated within the same 4-digit
value (1234 is allowed, but 1123 Is not). (840) 7 i [s#] 4

«  Example 11: To determine how many different 4-member groups can be organized in
a group of 10 individuals (210) 10 & 4 BB

Angle Unit Conversion
. Press E B to display the following menu.

D R G
it 3

. Pressing 1, 2, or 8 converts the displayed value to the corresponding angle unit.

e Example:  To convert 4.25 radians to degrees
- (D(Deg)
4.25 ) e (23(R) B3
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Cnurdmale Conversion (Pol (x, y), Rec (r, 6))
Calculation results are automatically assigned to variables E and F.
. Example 1: To convert polar coordinates (r=2, §=60°) to rectangular coordinates (x, y] (Deg)

x=1 R i 2 (D s0 (DA
y = 1.732050808 =0/

. Press RCL E to display the value of x, or RCL F to display the value of y.

+ Example 2: To convert rectangular coordinates ({1, ¥ @) ) to polar coordinates (") (8ad])

(Rad)
r=2 (iResiraklen] - |
=60 ia]

«  Press ROL E to display the value of 1, or RCL F to display the value of 6.

Engineering Notation Calculations
. Example 1: To convert 56,086 meters to kilometers

— 56.088 x10° 56088 B3 B0
(km)
«  Example 2: To convert 0.08125 grams to milligrams
~+ 81.25 x10- 0.08125 B3 ©8)
(mg)

Statistical Calculations JelilEis)

8D
Standard Deviation (L ]

Use the MODE key to enter the 3D Mode when you want to perform statistical calculations using
standard deviation.
SD MODE 2

e Always start data input with SHIFT CLR 1 (Scl) = to clear statistical memory.
«  Input data using the key sequence shown below.
<x-data> DT

o =
+ Input datais used to caloulate valus forn, s 2%y X%, X, Ot and G, , which
you can recall using the key operations noted nearby.

©FASTCRa.s. 14-EN



To recall this type of Perform this key operation:
value:

Example: To calculate =1, T, £, M, ZX and BX® for the following data:
55, .54, 51, 55, 53, 53, 54, 52
Inthe SD Mode:

&9 @ (D(Scl) B (Stat clear)
5500

Each time you press DT to register your input, the number of data input up to that point is

indicated on the display (n value)
54 [T 51 BT 55 [07]

63 [07] 0T 54 B7) 52 (7

Sample Standard Deviation (o, ,) = 1,407885953

Population Standard Deviation (c,) = 1,316956719

Avithmetic Mean (L]) = 53,375
Number of Data (n) = 8

Sum of Values (Ex) = 427 6= e (2 B3

=5 e (3 3

Sum of Squares of Values (£x?) = 22805 o] [s-sum] (1) 2D

Data Input Precautions

. DT DT inputs the same data twice.

You can also input multiple entries of the same data using SHIFT ; . To input the data 110
ten times, for example, press 110 SHIFT ; 10 DT .

You can perform the above Key operations in any order, and not necessarily that shown above.
While inputting data or after inputting data Is complete, you can use the A and ¥ keys to
scroll through data you have input. If you input multiple entries if the same data using SHIFT
i to specify the data frequency (number of data items) as described above, scrolling through
data shows both the data item and a separate screen for the data frequency (Fraq).

15-EN ©FASTCRa.s.



. You can then edit the displayed data, if you want. Input the new value and then press the =
key to replace the old value with the new one. This also means that if you want to perform
some other operation recall of statistical ion results, etc.), you should
always press the AC key first to exit data display.

. Pressing the DT key Instead of = after changing a value on the display registers the value
you input as a new data item, and leaves the old value as it is.

«  You can delete a data value displayed using A and ¥ by pressing SHIFT CL . Deleting
a data value causes all values following It to be shifted up.

. Data values you register are normally stored in calculator memory. The message “Data Full”
appears and you will not be able to input any more data. If there is no memory left for data
storage. If this happens, press the = key to display the screen shown below.

Edi tOFF ESC
1 2

Press 2 to exit data input without registering the value you just input
Press 1 if you want to register the value you just input, without saving it in memory. If you
do this, however, you will not be able to display or edit any of the data you have input.

o Todelete data you have just input, press SHIFT CL

«  Afterinputting statistical data in the SD Mode or REG Mode, you will be unable to display or
edit individual data items any longer alter perform either the following operations
Changing to another mode
Changing the regression type (Lin, Log, Exp, Pwr, Inv. Quad).

o CREGS,

Use the MODE key to enter the REG Mode what you want to perform statistical calculations
using regression.
REG MODE 3

«  Entering the REG Mode displays screens like the ones shown below.

Lin Log Exp *

®=it=
*Pwr Inv Quad

. Press the number key (1, 2, or 3) that corresponds to the type of regression you want to use

@ (Lin): Linear regression

(2 (Log):  Logarithmic regression

(3] (Exp):  Exponential regression
00 (Pwr): Power regression
»][2] “nv} . Inverse regression
() @] (Quad): Quadratic regression
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Always start data input with (SHIFT CLR 1 (:
Input data using the key sequence shown b
<r-data> (1) <y-data> @0

The values produced by a regression calcul
be recalled using the key operations shown

Scl) =) to clear statistical memory.
elow,

lation depend on the values input, and results can
inthe table below.

To recall this type of value:

Perform this key operation:

=
x
n
P
Iy
iy
X
x0,
2Ty
]
you
Yo

Regression coefficient A
Regression coefficient B

5 6= 3 0 D
) (o) ) () (D

Regression calculation other than quadratic regression

Correlation coefficient r

k'
b4

{—1col Sk ST
) ) () () (3 (1)
) (o) (3 (3 (0 (D

The following table shows the key operation
quadratic regression.

's you should use to recall results in the case of

To recall this type of value:

Perform this key operation:

-
2y
=

Regression coefficient C
&
S
2

o (o) () 05 ) (1)
) ) 02 0 (2
(o) () () () ()

The values In the above tables can be used
variables.

Linear Regression

The regression formula for linear regression
y=A+Bx

17 -

inside of expressions the same way you use

is:

EN ©FASTCRa.s.



ic Pressure vs.

Perform linear regression to determine the regression
formula terms and correlation coefficient for the data
nearby. Next, use the regression formula to estimate

ic pressure at 18°C and temperature

at 1000 hPa. Finally, calculate the coefficient of

Temperature A':: :::::ic
10° 1003 hPa
16° 1005 hPa
20° 1010 hPa
25° 1011 hPa
30° 1014 hPa

In the REG Mode:

D(Lin)

E @@ (sc) B (Stat clear)
1001003 €D

Each time you press DT to register you input,
indicated on the display (n value)

1503 1005
250 1011
30 1014

Registration Coefficient A = 997.4
Registration Coefficient B .56
Correlation Coefficient r = 0.982607368

Atmosphere Pressure at 18°C = 1007.48
Temperature at 1000 hPa = 4.642857143

Coefficient of Determination = 0.955517241
Sample Covariance = 35

(r?) and sample covariance
Zxy=n-x-y

n—1

the number of data input up to that point is

BEmEproe
) i) () ) (2) B
) (v () () (3) B
BTE@mEEEae

oEEEEEOe

) (vwa) () ) (3D () B3

i3]
(0] o] (5] (3] G100 B

Logarithmic, Exponential, Power, and Inverse Regression
Use the same key operations as linear regression to recall results for these types of regression.
The following shows the regression formulas to reach type of regression

Logarithmic Regression

V=A+B-Inx

Exponential Regression

y=A-e(ny=InA+Bx)

Power Regression

Y=A-(ny=A+Binx

Inverse Regression

y=A+B-'/x

©FASTCRa.s.
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. Quadratic Regression

. The regression formula for quadratic regression is:
y=A+Bx+Cx
. Example:

" Perform quadratic regression to
i Y determine the regression formula

29 16 terms for the data nearby. Next, use
the ion formula to estimate the

50 23.5 values for § (estimated value of y)
forxi=16and § (estimated value of

™ 38.0 x) for yi = 20

103 46.4

118 48.0

In the REG Mode:
(] (3](Quad)
=) (E) (30 (Scl) B3 (Stat clear)

2015 1.6 (07 50 (1) 23,5 01

74[1) 38.007 103 2] 46.4 1)
118 (0 48,00
Regi 1 Coefficient A

B (] (] (] () 2B

Regi Coefficient B EmEEDs
Registration Coefficient C = -6.71629667x 10° ) [swa] (3] (3] (3)
yhaxi 16 =-13,38291067 TEEmEEEOa
x1 hayi 20 - 47,14556728 20 69 () () () () (1)
x2 hayi 20 = 175,5872105 20 60 5 () () (5 (20 3

Data Input Precautions

. DT DT inputs the same data twice.

*  You can also input multiple entries of the same data using SHIFT : . To input the data “20
and 30" five times, for example, press 20-30 SHIFT : 5 DT.

. The above results can be obtained in any order, and not necessarily trial shown above,
Precautions when editing data input for standard deviation also apply for regression calculati-

ons.

Technical Information

When you have a problem......

If calculation results are not what you expect or if an error occurs, perform the following steps.
1. Press SHIFT CLR 2 (Mode) = to Initialize all modes and settings.

2. Check the formula you are working with to confirm it is correct.

3. Enterthe correct mode and try performing the calculation again.

19-EN ©FASTCRa.s.



If the above steps do not correct the problem, press the [[ON]] key. The calculator performs a self-
check operation and deletes. Make sure you always keep written copies of all important data.

Error Messages

The calculator is locked up while an error message is on the display, Press AC to clear the error,
or press uuu or www to display the calculation and correct the problem. See “Error Locator” for
details.

Math ERROR

e Causes
. Calculation result is outside the allowable calculation range,
*  Anattempt to perform a function calculation using a value that exceeds the allowable Input

range.
«  Anattempt to perform an in logical operation (division by zero, etc.)
e Action

«  Check your input values and make sure they are all within the allowable ranges. Pay special
attention to values in any memory areas you are using.

Stack ERROR

Cause

The capacity of the numeric stack or operator stack is exceeded.

Action

Simplify the calculation. The numeric stack has 10 levels and the operator stack has 24
levels.

. Divide your calculation into two or more separate parts.

Syntax ERROR

. Cause

. An attempt to perform an illegal mathematical operation.

e Action

. Press <« or P to display the calculation with the cursor located at the location of the error and

make required corrections

Arg ERROR

Cause

Improper use of argument

Action

Press < or P to display the location or the cause of the error and make required correcti-
ons.
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Order of Operations

Calculations are performed in the following order of precedence,

1. Coordinate transformation; Pol (x, y). Rec (r, 6)

2. Type A functions;

With these functions, the value is entered and then the function key is pressed.

a®/
Abbcvevia\ed multiplication format in front of n-t, e (natural logarithm base), memory name, or
variable name: 2m, 3e, 5A, A, etc.
6. Type B functions:
With these functions, the function key Is pressed and then the value is entered
[,V leg, In, &', 10°, sin, cos, tan, sin~'; cos~',

z,
3. Powers and roots: h(x-" i aJ
a4
5

v
tan~', sinh, cosh, tanh, sinh~!, cosh™", tanh ", ()

7. Abbreviated multiplication format in front of Type B functions: 2 -’.T!, Al0g2 etc.

8.  Permutation and combination: nPr, nCr

9. x =+

10. +,-

. Operations of the same precedence are performed from right to left

e'iny" 120 - ¢*{In(y" 120))

Other operations are performed from left to right.

+  Operations enclose din parentheses are performed first.

. When a calculation contains an argument that is a negative number, the negative number
must be an closed within parentheses. The negative sign (- is treated as a Type B function,
so particular care is required when the calculation includes a high-priority Type A function, or
power or root operations.

Example:  (-2)*=16
-2¢=-16

Stacks

This calculator uses memory areas, called “stacks,” to temporarily store values (numeric stack) and

commands (command stack) according to their precedence during calculations. The numeric stack has
10 levels and the command stack has 24 levels. A stack error (Stack ERROR) occurs whenever you try

1o perform a calculation that Is so complex that the capacity of a stack is exceeded.
2x((3+4x(5+4)+3)+5+8=

i

e @ B

Numeric Stack Command Stack
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. Calculations are performed in sequence according to ,Order of Operations”. Commands and
values are deleted from the stack as the calculation is performed.

Input Ranges

Internal digits: 12

Accuracy*: As a rule, accuracy is +1 at the 10th digit.

Functions Input Range
sinx | DEG | 0= |x| =4.499999999% 10"
RAD | 0= [x| =785398163.3
GRA | 0= |x| =4.999999980%10'
COSK DEG | 0= |x| =4.500000008x 10™
RAD | 0= x| 57853081649
GRA | 0 |x| =5.000000009% 10"
tanx DEG | Same as sinx, except when |x|= (2n-1)x90.
RAD | Same as sinx, except when |x|= (2n-1)xa/2,
GRA | Same as sinx, excapt when |x]= (2u-1)x100.
Sty 0s x| 51
cOS™'x
lan'x 0= |x| 59.999999999x 10*
b 0= |x| 5230.2585002
coshx
sinh-x 0= |x| =4.999999999x 10%
cosh'x 1= x 54.999999999x10™
tanhx 0 |x| £9.999999990% 10%
tanh-'x 0= |x| =9.9999999993 10~
logx/inx 10< x =9.999999999x 10™
10" -9 x10%s x5 99
Ll -9 10%= x = 230.2685092
X 0sx<1x10®
X |xl< 1% 10%
1x [x|l< 1x 10%; x % 0
*x x| 1 10™
xl 0= x = 69 (v is an integer)
Pt 0= n < 1x10", 0= r = n(n, r are integers)
15 [nll{n-r)l} < 1%10'®
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Functions Input Range

0= 1< 1x10", 05 r = n (n, r are integers)
1= [nl{ri{n-n1)] < 1x 10"

Pol(s, y)| | W vl =9.899098899x 10

(x*+)%) =9.999999999x 10*

Pecir, 6) 0= r =9.999999990% 10%

: Same as sinx

lal, b, ¢ = 1x101%

nCr

T 0= [." [
[x]<1x10%0

! Decimal < Sexagesimal Conversions
0°0°0°= [x| 59

x>0 -1 x10'P<ylogy<100

A} x=0: y=0

x<0: y=n, Zn57 (n s an integer)

However: —1x10' <ylogjx|< 100

y=0.x%0

-1x10"< 1/x logy< 100

o y=0: x>0 1

y<0: x=2n+1," (n % 0; n is an intager)
However: =1x10™ < 1/xlog|y|<100

Total of integer, numerator, and denominator

able | |must be 10 digits or less (including division
marks).
|x|< 1x10% XGn, you, X, §:n¥0

eg) | [l 1100 g, yoei A B,
|nj< 1x10'™ n%0,1

For a single calculation, calculation error is £ 1 at the 10th digit. (In the case of exponential
display, calculation error is + 1 at the last significant digit.) Errors are cumulative in

the case of consecutive calculations, which can also cause them to become large.

(This is also true of internal i tions that are performed in the case

M), Ny, xl, 3", aPr, nCr, eto)

In the vicinity of a function’s singular point and point of inflection, errors are cumulative and
may become large.
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Pfirucka uzivatele

Pied zapnutim a pouzitim Kalkuldtoru se prosim seznamte s navodem a'to iv pipadé ze jste jiz
is ého typu

Navod uschovejte pro pfipadné pozdéjsi pouziti.

Zakladni inlnrmace o kalkulatoru

FAAEET Dvouradkovy displej
n «  Displej umoziiuje sou¢asné zobrazeni vzorce wWpoétu
"’5 L'S.S '{338 (v hornim fadku) a jeho vysledku (ve spodnim fadku).
o Jako odd&lovaci znaménko pro desetinna mista je pouziva-
natecka.

o Pokud ma zobrazené celé éislo mantisy wsledku wpoétu vice nez 3 éisla je po kazdjch 3
¢islech zobrazovano oddélovaci znamenko (¢arka).

Rezimy kalkulétoru

. Pred pouzitim kalkulatoru je nutné ani jeho rezimu - viz na jici tabulka:
Pro provedeni pozadovaného | Postupné stlacte tlacitka: Kalkulator tak bude prepnut
typu wypodtu do rezimu:
Zakladni aritmetické vypocty COMP
MODE a1
Standardni odchylka MODE a 2 SD
Regresni vypocty MODE a 3 REG

o Opakovanym stlacovanim tlagitka MODE budou na displeji zobrazovany riizné nabidky - kte-
ré jsou popsany v popisech funkci
o Pro prepnuti kalkulatoru do vychoziho rezimu - stladte postupné tlagitka

=) (&) (Z)(Mode) B.

Vychozi rezim kalkulatoru
Rezim. .COmMP
Jednotka Uhld . . DEG (stupné)
Exponencialni format zobraze .NORM 1
Format zobrazeni zlomk{ .ab/c
Oddeélovaci znaménko . .tecka

«  Rezim kalkulatoru je zobrazovén v horni &asti displeje. Pred zahajenim wpoétu piekontroluite
nastaveni rezimu kalkulitoru a pouzivanou jednotku Ghid.

Kananlla vstupii kalkulatoru
Oblast paméti pouzivana pro ukladani vstupts kalkulatoru umoziuje ulozeni az 79 kroki (jeden
krok = stlaceni Gislicového tlacitka nebo aritmetického tladitka ([, ).
Tiacitka SHIFT nebo ALPHA nejsou wyhodnocovana jako krok.

«  Provjpodet je mozno viozit az 79 kroku, po viozeni 73 bude kurzor zménén na znak Bl
- budete tak upozoméni na blizici se vycerpani kapacity paméti pro ukladani vstupii. Pokud je
pozadovany vypocet delsi nez 79 kroki je vhodné vwypocet rozdélit napf. na polovinu.

«  Stlacenim tlagitka Ans bude vyvolan vysledek posledniho wpotu, ktery miizete pouzit pro
nasledujici wpocet. Vice informaci k tomuto tladitku naleznete v dalsim textu navodu
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Onravv vklédanjch hodnot
Pro premisténi kurzoru na pozadované misto v fadku pro vkladani vpoétu, pouzijte tlacitka
< nebo >

«  Provymaz udaje na pozici kurzoru stlacte tacitko DEL.

«  Postupnym stiacenim tlacitek SHIFT a INS se kurzor zménéni na . + - po zobrazeni
tohoto kurzoru je mozné na tuto pozici viozit pozadované hodnoty. Pro prepnuti na zobrazeni
normalniho” kurzoru stlacte postupné tlacitka SHIFT a INS nebo tladitko = .

Opakovane zobrazeni vzorce vypoctu a jeho vysledku
Provadény vypocet (vzorec a jeho vysledek) jsou ukladany do paméti, odkud je mozné stla-
cenim tlacitka A tyto hodnoty vyvolat. Opakovanym stlacovanim tlacitka je mozné prochazet
poslednim wpoétem.

«  Stladenim tlacitka 4 nebo P v pribéhu zobrazeni iho wWpodtu nebo
po ukonéeni Wpoétu se prepnete do rezimu editace.

o Pamét posledniho vypo&tu neni vymazavana stlagenim tiagitka AC .

*  Kapacita paméti posledniho vypoctu (vzorce a jeho vysledku) je 128 bytd.

. Pamét posledniho vypoctu se vymaze:
- stlacenim tlacitka ON
- stlacenim tlacitek SHIFT CLR 2 (nebo3) =
- po prepnuti kalkulatoru do jiného rezimu
- po vypnuti kalkulatoru.

Vyhledani mista vypoétu, na kterém doslo k chybé

«  Povyskytu chyby bude stladenim tiagitka 4 nebo » kurzor piemistén na misto ve wpoctu,
na kterém doslo k vyskytu chyby.

Slozena specifikace

«  Slozenou specifikaci je rozumén vjraz tvofeny dvéma nebo vice malymi vyrazy, které jsou
spojeny pouzitim dvojtecky (:).

«  Piiklad: Sectéte 2 a 3 a vysledek potom ynasobte 4.

el -+ RITDREETTR < Y = |

Exnnnenclalnl format zobrazeni
Kalkulator umozfiuje zobrazeni max. 10 Gislic, vétsi cisla jsou automaticky zobrazovana
v exponencialni notaci. V pripadé ych hodnot je mozno specil mezi dvéma
formaty zobrazeni, jejichz prostrednictvim je mozno uréit misto, na kterém bude pouzita
exponencialni notace:

*  Prozménu exponencidiniho formtu zobrazeni opakované stiacte tlacitio MODE (tolikrat, az
bude na displeji pro nastaveni poz 2zplsobu
zobrazeni - viz obrazek:
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Fix Sci Norm

«  Stladte tiacitko 3 a potom na obrazovce pro wbér formétu exponencidlnino zobrazeni
wberte stlagenim tiacitka 1 format NORM 1 nebo stiagenim tlacitka 2 format NORM 2 .
Format NORM 1
Tato exponencidini notace bude pouzita pro zobrazeni celych &isel slozenych
zvice nez 10 Gislic a pro dekadické hodnoty s vice nez 2 desetinnymi misty.

Format NORM 2
Tento format zobrazeni bude automaticky pouzit pro zobrazeni celych éisel slozenych z vice
nez 10 &islic a pro dekadické hodnoty s vice nez 9 desetinnymi misty.

Desellnna tecka a oddélovaci znaménka
Pro specifikovani znaki, které budete chtit pouzivat pro oddélen desetinnych mist a pro

¢ pouzijte Disp.

. Pro zménu znakl 7 ych pro oddéleni ych mist a pro
zobrazte opakovanym stlacovanim tlacitka MODE na displeji kalkulatoru udaje odpovidajici
nasledujicimu obrazku:

Disp
1

. Pro zobrazeni vybérové obrazovky stladte tlacitka 1 a ».
. Cislicovymi tlacitky 1 nebo 2 vyberte pozadované znaky.

Inicializace kalkuldtoru
Pro inicializaci kalkulatoru (wmaz paméti zobrazeni poslednino vipoctu a wsledku a wmaz
promennych) postupné stladte nasledujici tlagitka B (6] (3 {All) BB .

Zakladni vypocty
Aritmetické vypoéty
Pro prepnuti kalkulatoru do rezimu COMP pro aritmetické vypocty postupné stlacte tlacitka
MODE a 1.
o Zaporné hodnoty uvnitf wpoétu musi byt zobrazeny v zavorkéch - napF.

sin—1.23 —» (=] (DD 1.23
o Zaporny exponent neni nutno uzavirat zavorkami - napf.

sin 2.34 x 10° — () 2,34 B8 ©) 5

o Piiklady (Example):
Example 1: 3x(5x107)

1.5x 10
s@swCsa

Example 2: 5x(3+7) =80 sEOocB@7008

. Vsechny zavorkové operace, pred stlacenim tlacitka = je mozno preskocit.
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Vypocéty se zlomky

«  Pokud celkovy poet Gislic hodnoty ziomku prekrogi 10 (celé &islo, &itatel a jmenovatel)
budou hodnoty automaticky zobrazovany jako desetinna cisla.

o Piiklady (Example):

il b 0
Example 1: 3 + T
FIGSE] + RECORY - | 13415.
e 3 e o =
Example 2: 2 % +13 -4—15
KICORRCIRS |
1@2E38 411412,
1
4 2EaB
Exnmplud:-;—+1.ﬂ=1.1 1E262168

. Vysledky vypoctl se smésnymi zlomky a s desetinnymi Gisly jsou vzdy zobrazovany jako
desetinna cisla.

Prevod desetinnych isel na zlomky a naopak

. Pro pfevod desetinnych ¢isel na zlomky popf. naopak postupuite podle nasleduijicich pokynt.
«  Vénuite prosim pozornost tomu, Ze pevod miize trvat 2 sekundy nebo i déle.

. Priklady (Example):

Pievod desetinného éisla  Example 1: 2.75 = 2 - (Decimal -» Fraction)

na zlomek 2758

Prevod zlomku na desetinné ~ Example 2: % ~ 0.5 (Fraction = Dacimal)

gislo N = |
&

Prevod smésného zlomku na nepravy ziomek a naopak

. Priklad:
Example: |% -%
(@il Tz
E T —|
e[ uni]
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«  Pro specifikovani formatu zobrazeni v pripadé, kdy je vysledek wpodtu vétsi nez 1 miizete
pouzit obrazovky Disp.

«  Prozménu formétu zobrazeni zobrazte na displeji opakovanym stlacovanim tiagitka MODE
Gdaje podie nasleduiiciho obrézku:

Disp
1

. Stlacenim tlacitka 1 zobrazte vybérovou obrazovku.

. Pro wbér pozadovaného zplisobu zobrazeni stlacte tlacitko 1 (zobrazeni smésného zlomku
ab/c) nebo tlacitko 2 (zobrazeni nepravého zlomku (d/c)).

. Pokud bude vybran format zobrazeni d/c dojde pfi pokusu o viozeni smésného zlomku ke

vzniku chyby.
Procentudlni vypocty

o Piiklad 1: Vypodet 12%z 1 500 1500 E3 12 &7 (3]

o Piiklad 2: Vypocet kolik % z 880 je 660 660 B8 880 =1 [%]
o Piikiad 3: Pfipositani 15% ke 2 500 2500 BB 15 =) [%]
«  Piiklad 4: Odeéteni 25% od 3 500 3500 3 25 b ()
«  Prikiad 5: Odedteni 20% od soudtu Gisel 168, 98 a 734 166 K3 0 E3 734 I8 s 1 60

20898

Jak je zieimé z poslednino piikladu, pokud budete pozadovat pouziti aktuaini hodnoty paméti
Vysledki je nutné prefazeni hodnoty z paméti visledkd proménné a jeji nasledné pouZiti (divodem
pro toto je ulozeni vysledku vjpoctu do paméti vsledku vpoctu po stiaceni tlacitka % a pred
stlagenim tiagitia - (minus).

. Priklad 6: Pokud bude ke vzorku o hmotnost 500 g pfidano dalsich 300 g vzorku jaka bude
procentualni hodnota takto ziskaného vzorku vzhledem k plvodnimu?

300 K3 500 &4 (%)

. K jaké procentualni zméné dojde po zvéteni hodnoty 40 na hodnotu 46 nebo na hodnotu

46 &3 40 b ()
ENENENENENETEY =]
Vypoéty stupii, minut a sekund
. Kalkulator umoznuje vypocty se stupni, minutami a sekundami a prevod mezi hodnotami
v sedesatkové a dekadicke soustavé.

. Priklad 1: Pevod dekadické hodnoty na 2.258 na $edesatkovou a potom opét na dekadic-
kou.

22588
@ [_2°15°28.8
£ 2.258
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Piiklad 2: Provedeni nasledujicino vipoctu: 12°34'86" x 3.45
12340 66 EM 3458 | 43°24°31.2

FIX, SCI a RND
*  Prozménu nastaveni poctu innych mist, poctu vy ych Cislic a

formatu zobrazeni zobrazte na displeji opakovanym stlacovanim tladitka MODE nasledujici
udaje:

Fix Sci Norm

Stlacenim tlacitek 1, 2 nebo 3 wyberte funkci, kterou chcete zménit:
1 = pocet desetinnych mist

2 = pocet vyznamnych Gisel

3 = exponencialni format zobrazeni

Priklad 1: 200 : 7 x 14=

vere e [ |

N

pokraGovani interniho vjpodtu za 0B 7B 28.571
pouziti 12 mist 14 a 200,000

V nasledujicim prikladu je stejny vypocet provadén za pouziti specifikovaného poctu desetin-

nych mist:
interni zaokrouhleni 200E278 28.571
L] = | 399.994

Tladitky [e] «x++s E(Norm] (1) vymazte specifikaci poctu desetinnych mist.

specifikuje pocet desetinnych mist (3) o) e

Pfiklad 2: 1:3, zobrazeni vysledu za pouziti dvou vyznamnych mist:

e [2)(Sci) (2) 1 e B

Tiagitky [ee] v eer [ I vymazte specifikaci vjznamnych mist.
orm
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Vypoéty za pouziti pameéti
. Tlacitky MODE a 1 prepnéte kalkulator do rezimu COMP.

Pamel vysledku
Stlacenim tlacitka = po viozeni hodnot nebo vyraz(i automaticky aktualizovana bude pamét
vysledku a do paméti bude viozen vysledek wWpoctu. o

*  Kromé toho je pamét aktualizovana stladenim tlacitek &) ], w1, tasitka () nebo
tlagitek ) 78] nasledovanych stiadenim tiagitka A-F, M, X nebo Y .

o Pro vyvolani obsahu paméti vysledku stlaéte tladitko Ans .

. Do paméti vysledku je mozno ulozit az 12 islic pro mantisu a 2 Cisla pro exponent
Pamét vysledku nebude aktualizovana v pripadé, kdy vysledkem operace bude chyba.

Pnslnpne vyposty
Vysledek vwpoétu ulozeny v paméti vsledku je mozno pouit pro dalsi wpoéet a to pokud
bude poutzit jako prvni z hodnot viozenych pro vypocet.

«  Vénujte prosim pozornost tomu, 7e stlaéenim funkéniho tlagitka pi zobrazeném obsahu
paméti vysledku dojde k odpovidajici zméné hodnoty ulozené v paméti.

o Vysledek vwpoétu je rovnéz mozno pouit s nasledujicimi funkcemi typu A jako jsou funkce

®, %%, X, xl, DRG®), +, =, A(x), "V~ ', =, nPrand nCr. . (or = nebo)

Nezawsla pamét
Hodnoty mohou byt vkladany pfimo do paméti , pfipoéitavany nebo odpogitavani k / od obsa-
hu paméti. Nezavisla pamét je vhodna predevaim pro vypocty celkovych souctl .

o Nezavisla pamét pouziva stejnou oblast paméti jako proménna M.

s Provymaz obsahu nezavislé paméti stlacte tlagitka [0 ] ] [578] [#) .

. Priklad (Example):

23+9=32 23 63 9 &= 61 (8 (M+)
63 -6=47 53 B 6 ]
~) 45 x 2 = 90 4563 265 0
(Total) =11 00 (M+)
(Total = celkem)
Prnmenne

K dispozici je 9 proménnych (A - F, M, X a'Y), které mohou byt pouzivany pro ukladani dat
konstant, vysledki a jinych hodnot.

o Provymaz dat piitazenych urité proménné pouzie tlacitka [0 &% 810 (&, (priklad
vymazu dat pfifazenych proménné A).

«  Pii pozadavku na vymaz viech dat prifazenych vem proménnym pouzifte nasledujici sled

tlagitek: @meny B

o Piikiad:
1032 + 23 = 8.4
1032 - 28=6.9

193.2 00 0 (A 3 23 B3

W EEza
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Vypoéty védeckych funkei

. Pro pouziti védeckych funkci kalkulatoru prepnéte kalkulator do rezimu COMP (tlacitka
MODEa 1).

©  Nékteré vposty mohou vyzadovat delsi dobu.

e m=3.14150265359

Trigonometrickeé / inverzni trigonometrické funkce
. Pro pfepnuti vychozi jednotky méfeni uhli na pozadovanou zobrazte na displeji opakovanym
stladovanim tlaitka MODE  nasledujici udaje:
I:1)eg F2\ad g ra
«  Potom Gislicovymi lacitky 1, 2 nebo 3 vyberte pozadovanou jednotku pro méfeni uhid.
T .
o f90°= Eramans = 100 grads)

o Piiklady vjpoctd (Example):

Example 1: sin 63°52'41" = 0.897859012
=

) o (2] (Rad)

B0 80888
Example 4: tan™' 0741 = 36.53844577°

& - (1 (Deg)

& & 0.741 6

Hyperholické / inverzni hyperbolické funkce
o Piiklady (Example):
Example 1: sinh 3.6 = 18.28545536 [ () 36 B

Example 2: sinh ' 30 = 4.094622224
() =) ) 30 9

Dekadické a prirozené logaritmy / obracené hodnoty logaritmu
«  Piiklady (Example):

+ Example 1: log 1.23 = 0.089905111 1238

 Examplo 2: 190 (- fog, 90) - 449980967

[GET-]

Ine=1 B@Ea
+ Examplo 3: ¢* = 22026.46579 E@0e
« Examplo 4: 1014 = 31.6227766 & 158
+ Example 5: 2= 16 FIESEY -1
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Druhé a tfeti mocniny / druhé a tfeti odmocniny / pevrécené hodnoty / faktoridly / nahodna gisla / Tr
/ kombinace a permutace
. Priklady 1 - 7 (Example):
Example 1: V2 + 13 x (5 = 5287196809
De@sACsa
Example 2: /5 + °/—27 = -1.200024053
) (¥ 5 6 ) () (O &) 27 D
Example 3: 77123 (= 1207) = 1.986647795

70128
Example 4: 123 + 30? = 1023 12363 301 B8
Example 5: 12° = 1728 iz
Example 6: i —= 12

Os@sooe
Example 7: 8! = 40320 Elcmleal = |

. Priklad 8: Generovani nahodného Cisla v rozsahu 0.000 az 0.999

=Ema 0.664

Pokazdé bude generovano jiné islo.
o Phikiad 9: 3x = 9.424777961 KlcTlea] - |

. Priklad 10: Zjisténi kolik riiznych étyfmistnych Gisel miize byt vytvoreno kombinacemi Gislic
1-7 (v ramci stejného &isla se nesmi opakovat stejna éisla - nap. 1234 je povoleno, 1123
nikoliv).

7 ) o] 4 120
. Priklad 11: Zjisténi kolik riznych skupin po 4 ¢lenech mize byt organizovano uvnitf skupiny
10 jednotiivych &isel.

10k 4 23

Prevody jednotek pro méfeni dhld
o Tiagitky [ 8] zobrazte na displeji nasleduiici udaje:

D R G
1 rier, 3

e Tiacitky 1,2 nebo 3 bude zobrazeny udaj preveden na odpovidajici jednotku Ghlu.
. Priklad: Pfevod 4.25 radiant na stupné:

&8 oo (D{Deg)

4266 @ DR B | 555%070800
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Prevod soufadnic (Pol (x, y) Rec (¢, 6))
. Vysledky vypoctl jsou automaticky pfirazovany proménnym E a F.
«  Piiklad 1: Pfevod polarnich soufadnic (r = 2, 6 = 60) na pravouhlé souradnice (x, y) (Deg)

x=7 R i 2 (D s0 (DA
y = 1.732050808 = 0|

Pro zobrazeni hodnoty x stlaéte tlacitka (%) [E], pro zobrazeni hodnoty y stlacte tlacitka
0 (F]

o Piiklad 2: Pevod pravouhlych souradnic {1, ¥ 3) na polarni soufadnice () (Rad)

r=2 (U R R RCak e8] - |
4= 60 [cnlual

«  Pro zobrazeni hodnoty r stlaéte tiagitka ) [EJ, pro zobrazeni hodnoty 0 tiagitka ™0 (FJ.

Vypocty s inZenyrskou notaci
«  Piiklad 1: Pievod 56.088 metrd na kilometry:

— 56,088 x10° 56088 B3 [68)
(km)

. Priklad 2: Pfevod 0.08125 g namg

—+ 81.25 10~ 0.08125 B3 B8)
(mg)

Statistické vypocty

«  Pro statistické vpocty prepnéte Kalkulator tacitky MODE a 2 do rezimu SD.
«  Predviozenim dat je tiasitky £ (ER) (1) (S c) IEN nutny vimaz pameti statistickych
Vypoctl. R
«  Datavkiadejte v tomto poradi: <r-data [BT).
- -
« Viozena data jsou pouivana pro viposty hodrot /17 Zx, 2%, X, an

1=, které mizete vyvolat pouzitim tlacitek uvedenych v nasledujici tabulce:

a

To recall this type of value: Perform [his key operation: | To recall ... = pro vyvolani hodnoty
tohoto typu;
e Perform this key ... = pouzijte tato tlacitka
n
e
XOn
XOn-t

. Priklad: Vypoctéte On=1. On, j' LA zx a E‘\xa pro nasledujici data:
55, 54, 51, 55, 63, 53, 54, 52
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V rezimu SD:
&= E® (D(sel) BB (Stat clear)
55 1)

Opakovanym stlacovanim tlagitka DT bude na displeji indikovan pocet viozenych dat (hodnota n).

54 [ET) 51 BT 55 [07)
g3 [07] (0T) 54 BT] 52 [T

standardni odchylka vzorku fer]) (3] (3]
standardni odchylka populace j<] 2a
aritmeticky promér i) [sen] (1) D
pocet dat e
souget hodnot =) () (2] 12
souget druhych mocnin hodno o] (ssune] [ ) 2D

Unnznmém ke vkladani dat
Dvéma stiacenimi tlacitka DT budou stejna data viozena dvakrét.
«  Pro opakované viozeni stejnych dat mizete rovnéz pouit tlacitka %1 (5], napr.

pozadavku na 110 viozeni dat postupné stiacte tiasitia 110 B8} (3] 10 [B),

«  Vyse uvedenou operaci je mozno provést v libovolném pofadi, neni nutno dodrzet pofadi
uvedené ve wie uvedeném prikladu

*  Vpribéhu vkladani dat nebo po jeho ukonceni je tlaCitky A nebo ¥ mozno daty prochéazet.
Pokud budou stejna data viozena opakované (pouzitim tlacitek m] budou béhem
prochazeni daty zobrazeny jak data tak i pocet jejich viozeni.

. Zobrazena data je mozno editovat, v pfipadé potfeby je mozno viozit nové hodnoty a potom
stlacenim tlagitka = zobrazit novy vysledek za pouziti novych dat.

. Pfi poz na pt tické operace je pred jejim zahajenim nutno stlace-
nim tlacitka AC vymazat dlsp\e].

. Stlacenim tlacitka DT namisto tlacitka = po viozeni dat budou vioZzena data registrovana
jako nova data a stara hodnota bude ponechana v pivodnim stavu.

«  Hodnoty zobrazené tiasitky A nebo ¥ je v pfipadé potfeby mozno wmazat a to stlaéenim tiagitek

.. Vymazem dat budou odpovidajicim zpiisobem posunuta véechna nasleduiici data.

*  Viozena data jsou ukladana do paméti kalkulatoru, po jejim zapInéni bude na displeji kalkula-
toru zobrazeno hlaseni ,DATA FULL" V podobném pfipadé zobrazte na displeji opakovanym
stlacovanim tlacitka = udaje zobrazené na nasledujicim obrazku.

EditOFF ESC
1 2

Stlagenim tlagitka 2 je mozné wyjiti z vkladani dat bez registrace posledni viozené hodnoty, stlace-
nim tlacitka 1 bude viozena hodnota registrovana, nebude vsak ulozena do paméti.

©FASTCRa.s. 1-cz



Pro vmaz poslednich viozenych dat stiaéte tiacitka &9 (EL),

Po viozeni dat statistiky v rezimu SD nebo v rezimu REG neni po provedeni nasleduijicich
operaci mozné zobrazeni nebo editovani dat:

po prepnuti kalkulatoru do jiného rezimu

Po zméné typu regrese (Lin, Log, Cxp, Pwr, inv. Quad).

resni vypocty

Pro prepnuti kalkulatoru do rezimu REG pro provadéni vwpocti regrese postupné stlacte
tlacitka MODE a 3 .

Po prepnuti kalkulatoru do rezimu REG budou na displeji zobrazeny nasleduiici udaje:

L4 Log“Exp =
h B Lt

®lit=

*Pwr 1pv Quad
S

Pro vybér pozadovaného typu regrese pouzijte tladitka 1. 2 nebo 3 :

D (Lin): linearni regrese
@ (Log): logaritmicka regrese
@) (Exp):  exponencialni regrese
() (3 (Pwr): mocninova regrese
(] (2] (Inv): inverzni regrese
(3 (@) (Quad):  kvadraticka regrese
o Piedvkiadanim datvidy pouzite kombinaci tacitek B B2 (L) (Seh) B (oo comei statistky).
«  Piivkladani dat jte na ¢ <rdata> (2] <y-data> @0
«  Vypoctitané hodnoty zaviseji na viozenych datech, pro vyvolani vysledki wpoctd pouzifte
tladitka uvedena v nasleduiici tabulce:
[Tareclt sty ot vaiwe:_| Peform Wskeyoperain]  To recall ... = pro vyvolani tohoto typu hodnoty;
P B0 Perform this ... = pouzijte nasledujici tlacitka;
B S
n R
52 2 6
Iy 3 oo (5) (2)
Tay 9 6 5 @)
* 2@0
0 59 o) ()
Ay &= = (3
5 6 (5 [0
Yo, =) @ () (@)
o) (va) () (30
Regression coefficient A | &) (zw) () (%) (1)
Regression coefficient B | & (sm) (5) (5) (2)
i ; | koeficient regrese A (B)

réssion calculation othe
Correlation cosfiicient r
/]

vypocet jiné nez kvadratické regrese;
5 () () 0] (1 (1) | koeficient korelace
) () () ) () (2D

3
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V nasleduiici tabulce jsou uvedena tlagitka pro vyvolani vysledkd kvadratické regrese:

To recall this type of value: Perform this key operation:
b ] [saum) (3] () (3
Eady ) () () () (2)
] i) [s-eum) (] () (3]
Regression coefficient C | &5 () ) ) (3]
& ] (sun) (3] () 5 (1)
$ fir] [sm) (3] (3] (3] (3

. Hodnoty uvadéné ve vyse uvedenych tabulkach mohou byt ve vyrazech pouzivany stejnym

zplsobem, jako jsou pouzivany proménné.

Linedrni regrese

. Pro vypocet linearni regrese je pouzivan vzorec ¥ = A+ Bx.

. Priklad: Zavislost atmosférického tlaku na teploté: we| Atmospheric
" . N - . Lbsen i Prassure
Provedte linearni regresi pro uréeni vztah( regrese a vy
o g 10°C_| 1003 hPa
korelace pro data z tabulky (Te - teplota; 15°C | 1005 hPa
Pressure = atmosféricky tlak;). Potom pouZijte vzorec regrese 20°C 1010 hPa |
pro zjisténi atmosférického tiaku pii teploté 18 °C a teploty pii 55°C 1 1071 WPa
tlaku 1 000 hPa. Nakonec vypoctéte koeficient tendence (r?) 30°C 1014 hPa

a kovariance.

Ex_{'—n o T
n=1

Vrezimu REG:

@(uin)
&) @) @) (Scl) B (Stat clear)
1031003

Opakovanym stlacovanim tlacitka DT bude na displeji indikovan pocet viozenych dat (hodnota n).

koeficient regrese A
koeficient regrese B
koeficient korelace

atmosféricky tiak pfi 18 °C

teplota pii tlaku1 000 hPa

©FASTCRa.s.

153 1005 @D
2503 101100
303 1014 BD

20(2J1010

EHEaEEOB
] () (] () (2] D
) (o) (3] (3] (3] D

18 B=) () () 1) 8 (2 B
1000 &) ) () (2 02 a
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koeficient tendence

kovariance vzorku

Louammlcka exponencialni, mocninové a inverzni regrese

Pro vyvolani vysledkii uvedenych typii regrese pouzijte stejné operace s tlagitky jako pfi

linearni regresl.

Vzorce pro vypoéty uvedenych typii regresi jsou uvedeny v nasledujicim prehledu:
y=A+B-Inx

=A-e®(Iny=InA+By

- logaritmicka regrese ..

- exponencidini regrese ...............
y=AxB(ny=InA+Bing
- mocninova regrese .

A+B-"x

- inverzni regrese ...

Kvadraticka regrese

Vzorec pro wpoget kvadratické regrese: ¥ = A + B + Ca?

Priklad: Provedte kvadratickou regresi pro uréeni vztahi regrese Xi Vi
dat uvedenych v tabulce. Potom pouzijte vzorec regrese pro odhad 20 16
hodnot y pfixi = 16 a § =pro xi = 20. -
50 23.5
Vrezimu REG: 74 38.0
Stat clear = vy dat statistiky
(Stat clear = vymaz dat statistiky) 103 Py
=) (E)(Quad) 118 48.0

B (68 (3 (Scl) B (Stat clear)
2070 1.6(67 50 (1] 23.5 67

741 38.0@1) 103 ] 46.a 1)

118 48.0ED

koeficient regrese A (01 (3] () (o] [1) B
koeficient regrese B (=il Sl SiFs] = |
e B e o
x1 pfiy? = 20 EEEEEFEECR
X2piiy2 =20 20 ) (swa) (0] (] () (3] BB
2 EEmEa

Unnznrnem ke vkladani dat

Dvéma stlacenimi tlacitka DT budou stejna data viozena dvakrat.
Je rovnéz mozné opakované vlozeni stejnych dat - pouzitim tlacitek
dat 20 a 30" pétkrat postupné stilacte tiacitka 20 () 30 &1 (1) &
Vyse uvedené vysledky je mozno ziskat v libovolném pofadi - neni nutné dodnem wse
uvedené poradi vkladani dat.

(. - napF. pro viozeni
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. Na vwypodéty regrese se odpovidajicim zplisobem vztahuji upozornéni pro vkladani a editovani
dat pro vypocet standardni odchylky.

Technickeé informace

V pripadé vyskytu problému ...

Pokud nebude vysledek wpottu odpovidat vami predpokladanému wsledku nebo v piipadé
vyskytu chyby provedite prosim nasleduiici Gkony:

1. Proinicializaci vsech rezimi a nastaveni kalkulatoru postupné stlacte nasleduiici tlacitka:

=) @A) (2)(Mode) B2
2.  Prekontrolujte pouzity vzorec vypoctu.
3.  Prepnéte kalkulator do pozadovaného rezimu a opakujte vypocet.
Pokud vyse uvedenym postupem nebude problém odstranén stlacte tlacitko @ Kalkulatorem
bude proveden autotest a v pfipadé vyskytu jakychkoliv abnormalit budou z paméti kalkulatoru
vymazana véechna data. Pfed provedenim testu je vhodné (napf. pisemnou formou) zalohovat
véechna v pamétech kalkulatoru ulozena dulezita data.

Chybova hlaseni

. Po zobrazeni chybového hlaseni na displeiji kalkulatoru bude kalkulator zablokovan.

e Provymaz chybového hlageni stlaéte tlagitko AV nebo tlagitkem < popf. P> piejdéte na misto
vypoctu, na kterém doslo k chybé a odstrante problém.

Na displeji &toru mohou byt asleduiici chybova hiageni:
. MathERROR

- Vysledek wpoétu je mimo povoleny rozsah wpoctu

- Pokus o provedeni wpodtu za pouziti hodnoty presahuiici povoleny rozsah vstupnich
hodnot.

- Pokus o provedeni nelogické operace (jako je nap. déleni nulou).

Odstranéni:

-+ Prokontrolufe vtupni hodnoty vjpoctu a zajtéte, aby byl v rozsahu povolenych vetup-
nich hodnot. Zviastni pozornost vénuijte v

. StackERROR
Piiginy:
- Byla prekroéena kapacita zasobniku &iselnych hodnot nebo zasobniku prikazt.
Odstranéni:
- Zjednoduste vypocet. Zasobnik ¢iselnych hodnot ma 10 arovni, zasobnik piikazti 24.
- Rozdélte vypocet na poloviny popf. na vice ¢asti
. Syntax ERROR
Priciny:
- Pokus o provedeni nelogické matematické operace (jako napf. déleni nulou).
Odstrar
- Tiagitky <€ nebo P pejdéte na misto ve wpoétu, na kterém doslo k chybé a potom
provedte potebné opravy.

*  Arg ERROR
Piciny:
- Nespravné pouziti argumentu
Odstranéni
- Tiacitky < nebo P prejdéte na misto ve wpostu, na kterém doslo k chybé a potom
provedte potiebné opravy.
©FASTCRa.s, 15-CZ



Poradi operaci

Jednotiivé operace jsou kalkuldtorem provadény v nasledujicimi poradi:

1. Pfevody soufadnic.

2. Funkce typu A-jedna se o funkce u kterych je nejdfive vkladana hodnota a teprve potom je
stlageno funkéni tiacitko

3. Mocniny a odmocniny.

4. ab/c

5. Zkraceny format nasobeni ped nazvem paméti nebo nazvem proménné jako napr.
2m, 3e, 5A, mA 44

6. Funkee typu B - u téchto funkei je ne]dnve stlaceno funkeni tiagitko a poto je vkladéna

= , log, In, &', 10%, sin, cos, tan, sin™ “ cos™',
h, cosh, tanh, sinh~!, cosh~", tanh ', (—)
pred funkcemi typu B, jako napt. 2, 3, Alogd  atd.

hodnota, napf. lan‘ i
Zkraceny format nasobeni
Permutace a kombinace.
Nasobeni a déleni.

0. Odegitani a secitani.

3o~

Dopl formace

Operace se stejnou prednosti jsou provadény zprava doleva.

Ostatni operace jsou provadény ve sméru zleva doprava.

Nejdrive jsou provadény operace v uzavfenych zavorkach.

Pokud je soucasti vypoctu argument, ktery je zapornym ¢islem musi byt toto ¢islo uvedeno
v uzavienych zavorkach. Se zapornym znaménkem je zachazeno jako s funkci typu B

-z uvedeného dlivodu je nutno vénovat zvySenou pozornost vypoétim obsahuiicich funkei
typu A s vysokou prioritou popf. operacim umochiovani a odmochovani.

(-2) =16
-2*=-18

Priklad:

Zasobniky

Kalkulatorem jsou pro prechodné ukladani dat pro jejich zpracovani v poradi jejich dilezitosti (viz vy&e)
pouzivany oblasti paméti oznacované jako zasobniky - pro ukladani ¢iselnych hodnot zasobnik Giselnych
hodnot, pro ukladani prikazii zasobnik prikazii. Kapacita zasobniku Eiselnych hodnot je 10 trovni,
zasobnik pikazii ma 24 arovni. Pfi pokusu o provedeni operace presahuijici kapacitu zasobniki
bude vydano hlaseni Stack ERROR

y+3)+5) +8=

Vypocéty jsou provadény v poradi jejich priority, postupnym provadénim vypo-
&t jsou ze zasobnik(i postupné vymazavany ulozené hodnoty a prikazy.
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Povolené rozsahy vstupnich hodnot
e Intené jsou wpocty kalkulatorem provadény za pouziti 12 Gislic.
. Presnost wpoctu je zpravidla +/- 1 digit posledniho zobrazeného mista.

Functions Inj Functions = funkce;
sinx | DEG | 0= |x| 4. ® 10" Input range = rozsah
t 3
RAD | 0= |x| 5785308163.3 vetp
GRA | 0= [x| =4 %10°

cosx | DEG | 0= |x| =4.500000008 x 10"
RAD | 0= x| 5785398164.9

GRA | D= |x| =5.000000009x 10"
tanx | DEG | Same as sinx, excepl when |x|= (2r-1)x90. | Sameas... = steiné
RAD | Same as sinx, except when [x|= (2n-1) xn/2. ‘;'Z’e'p';;vhen = swim
GRA | Same as sinx, axcept when |x|= (2u-1)x100| koukdyz..;

sin~'x
cos'x
tan-'x | 0= |x| 59.999999999x 10%
sinhx
coshx
sinh-'x | 0= |x =4.999999909x 10%
cosh™'x |12 x 54.999999999 ¢ 10%
tanhx | 0= |x| =9.999999999x% 10%
tanh-'x | 0= |x] 50.999699969: 10~
logx/inx| 0< x =9.999999999 % 10*
10" | -9.999999999x 10%S x S 99.99999999
¢ -9.999989990 % 10™= x = 230.2585002
VX |0Sx<1x10®
2 |l 1% 10%
e |lx<ix 109 x%0
x| = 1x 10

0= [x| =1

0= |x| =230.258508:

xisan ... = x je celé cislo;
x! 0= x = 69 (xis an integer)
WPy |0= 1< 1X10", 0= r= n (n, rare integers) “'l?"?v";‘egers = ...jsou
15 {nlf{n=r)l) < 1x10'% celacisia
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Functions nput Ranga Functions = funkce;
Input range = rozsah
ncr 0=n < 1x10", 05 r = n (n, rare integers) vstupu;
1= [W{r(n-n1)] < 1x 10" .. are integers = ...
Polie. ) ‘x‘ 5] =9.998999999% 107 jsou cela Gisla;
~ | (+yR) =9.999999999% 10%
< inx = stejné
Rec(r, 6) G-r§9‘999999999x10" . same as sinx = S
: Sama as sinx ako sinx;
lal. b.c < 1x101®@
s 0sbhc
=110 pievod dekadickych
o> | Decimal ~ Sexagesimal Conversions Gisel na sedesatkova
0°0°0°= |x| 59 anaopak;
x>0 -1 x10'°<ylogx< 100
J\(X,\') x=0: y=0
x<0: y=n, Zp37 (nls an integer) n = celé gislo
However: —1x10'® <ylog|x|<100 avsak: ...
y=0:x%0
¥ —1x10"< 1/x logy< 100
7 |y=0:x>0 1 = celé gislo
y<0: x=2n+1,5" (n % 0; nis an intagar)
However: =1x 10" < 1/xlog|y|<100
Total of Integer, numerator, and denominator 5°"°f'f"'§‘ °°5‘;"y.°,hl
allec | must be 10 digits o less (including division| Pro viozeni celého Cisla,
marks) Citatele a jmenovatele
. musi byt deset nebo
0 M< 1% 105 Xon, you, &, §:n *0 meknji((lvée’tné znamé-
(HSEG) [¥l< 1x10% XGn=1, yon=1, A, B, r: nek délenl)
|nf< 1x10™™ n%x0.1
Pro jednoduché vypocty je chyba vjpoctu 1 digit mista (v piipadé

zobrazeni je chyba vypoctu +/- 1 digit posledniho vyznamného mista). V pfipadé postupnych
vysledkil jsou chyby seitany v déisledku ehoz dochézi k jejich zvétsovani (plati rovnéz i pro interni

i

postupné vipocty za pouziti funkei A(x”}, “v y , xl, & | nPr, nCr atd.
V pripadeé blizkosti funkci jednotlivého bodu a bodu obratu jsou chyby secitany a mohou se stat

velkymi.

Zmény designua g ifikaci vyhrazeny bez pi iho oznameni.

18-Cz
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Prirucka uZivatela
Pred zapnutim a pouzitim kalkulatora sa prosim zoznamte s navodom a to aj v pripade e, ste uz
oboznameny s pouzivanim kalkulatora podobného typu. Navod uschovaite pre pripadné neskorsie
pousitie.
Zikladné informécie o kalkulatore
Dvojriadkovy displej
«  Displej umo#fuje sugasné zobrazenie vzorca vypoétu (v hormom riadku) a jeho vsledku
(v spodnom riadku).
. Ako oddelovacie znamienko pre desatinné miesta je pouzivana bodka.

« Akmézobrazené celé Gislo mantisy vsledku vipoctu viac ako 3 &isla je po kazdjch 3 Gislach
zobrazované oddelovacie znamienko (iarka).

Rezimy kalkuldtora

+  Pred pouzitim 4 jenutné § i jeho rezimu - vid' nasledujicu tabufku:
Pre prevedenie pozadované- Postupne stlacte tlacidla: Kalkulator tak bude prepnuty
ho typu vpoétu do rezimu:

Zakladné aritmetické vypocty MODE a 1 COMP
Standardna odchylka MODE a 2 sD
Vyposty funkcii MODE a 3 REG

+ Opakovanym stlaanim tlacidla MODE budi na displeji zobrazované rozne ponuky ktoré si
popisané v popisoch funkcii
+ Naprepnutie kalkulitora do podiatoéného rezimu - stiacte postupne tlacidia

&) @) (£)(Mode) B3

.COMP
. DEG (stupne)
Exponencialny formét zobrazenia .. NORM 1
Forméat zobrazenia zlomkov ..........ab/c
Oddelovacie znamienko .... . bodka
. Rezim kalkulatora je zobrazovany v hornej ¢asti displeja. Pred zapocatim vypoctu prekontro-
lujte nastavenie rezimu kalkulatora a pouzivan( jednotku uhlov.

Kapacita vstupov kalkulatora

+  Oblast pamate pouzivana na ukladanie vstupov kalkulatora umoziuje ulozenie az 79 krokov
(jeden krok = stlacenie Gislicového tiacidla alebo aritmetického tlacidla £, B3,
Tiagidla SHIFT alebo ALPHA nie s vyhodnocované ako krok.

+  Navypodet je mozné viozt az 79 krokov, po viozeni 73 bude kurzor zmeneny na znak B
- budete tak upozorneni na bliziace sa vyGerpanie kapacity paméte na ukladanie vstupov. Ak
je pozadovany vypocet dihsi ako 79 krokov je vhodné vypocet rozdelit napr. na polovicu.

«  Stlacenim tiaidla Ans bude vyvolany vysledok posledného vypoctu, ktory mozete pouzif pre
nasledujiici wpocet. Viac informécil k tomuto tacidiu najdete v dalsom texte navodu
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Onravv vkladanjch hodndt
Pre premiestnenie kurzoru na pozadované miesto v riadku pre vkladanie vjpoctu, pouzite
tlacidia < alebo >

+  Navymazanie idaja na pozicii kurzora stlacte tlacidlo DEL .

«  Postupnym stlacenim tlacidiel SHIFT a INS sa kurzor zmenenina © § - po zobrazeni
tohto kurzora je mozné na tito poziciu viozit ziadané hodnoty. Na prepnutie na zobrazenie
.normalneho* kurzora stlacte postupne tlagidla SHIFT a INS alebo tlacidio =

Opakovane zobrazenie vzorca vypoétu a jeho vysledku
Prevadzany vypoéet (vzorec a jeho vysledok) st ukladané do pamate, odkial je mozné stla-
cenim tlacidla A tieto hodnoty vyvolat. Opakovanym stlacanim tlacidla je mozné prechadzat
poslednym vwypoétom.
+  Stla¢enim tlacidla « alebo P v priebehu i ého wpoctu alebo
ne po ukonéeni vypoétu sa prepnete do rezimu editacie.
. Pamat posledného vypoctu nie je vymazana stlacenim tlacidla AC .
«  Kapacita pamate posledného vpoétu (vzorce a jeho vysledku) je 128 bytov.
. Pamat posledného vypoctu sa vymaze:
- stlacenim tlacidla ON
- stlacenim tlacidiel SHIFT CLR 2 (nebo3) =
- po prepnuti kalkulatora do iného rezimu
- po vypnuti kalkulatora.

Vyhladévanie miesta vipotu, na kiorom doslo ku chybe

+ Powskytu chyby bude stiagenim tiacidla « alebo P kurzor premiestneny na miesto vo
vypocte, na ktorom doslo ku chybe.

Zlozena Specifikdcia

« Pod zlozenou specifikaciou rozumieme vjraz tvorenia dvoma alebo viacerymi malymi vyrazmi,
ktoré st spojené pouzitim dvojbodky

Priklad: Scitajte 2 a 3 a vsledok potom vynasobte 4.

Exnnnenclalny formét zobrazenia
Kalkulator umozniuje zobrazenie max. 10 cisiel, Cisla s automaticky zobrazované
v exponencialnom zapise. V pripade dekadickych hodnét je mozné $pecifikovat medzi dvomi
formatmi zobrazenia, ich prostrednictvom je mozné uréit miesto, na ktorom bude pouzity
exponencialny zapis.

*  Nazmenu exponencialneho formatu zobrazenia opakovane stlacte tlacidio MODE
(tolkokrat, az bude na displeji zobrazena informacia pre nastavenie Ziadaného spésobu
exponencialneho zobrazenia - vid obrazok:
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Fix Sci Norm

*  Stlacte tlaCidio 8 a potom na obrazovke pre vyber formatu exponencialneho zobrazenia
vyberte stlacenim tlacidla 1 format NORM 1 alebo stlacenim tlacidla 2 format NORM 2.
Forméat NORM 1
Tento ialny zapis bude ioky pousity na iie celych &isiel zlozenych
zviac ako 10 Cislic a pre dekadicke hodnoty s viac ako 2 desatinnymi miestami
Format NORM 2

Tento format ia bude icky pouzity na celych cisiel zlozenych
z viac ako 10 ¢islic a pre dekadické hodnoty s viac ako 9 desatinnymi miestami.

Desalmna bodka a oddelovacie znamienka
Na $pecifikovanie znakov, kioré budete chcief pouzivat na oddelenie desatinnych miest a pre
oddelovacie znamlenka pouzue obrazovku Disp.

«  Nazmenu znakov pouz na oddel ych miest a pre
zobrazte opakovanym stlacanim tlacidla MODE na displeji kalkulatora Gdaje zodpovedajuce
nasledujlicemu obrazku:

Disp
1

+  Pre zobrazenie vyberovej obrazovky stlacte tiacidla 1 a ».

. Cislicovymi tlacidlami 1 alebo 2 vyberte pozadované znaky.

Inicializdcia kalkuldtora

Nair paméte posledného vypoétu a vysledku a vymaz

postupne stlaéte nasledujice tladidla 11 EBane.

Zakladné vypocty

Aritmetické vypocty

Na prepnutie kalkulatora do rezimu COMP pre aritmetické vjpocty postupne stlacte tlacidla
MODE a 1

« Zapomé hodnoty vo vnitri vypoctu musia byt zobrazené v zatvorkach - napr.

sin—1.23 — &) (OE 12310
«  Zaporny exponent nie je nutné uzatvarat zatvorkami - napr.

sin2.34 x 105 — () 234 B ED 5

«  Priklady (Example):
Example 1; 3%(6x107°) = 1.5x 107

iBsEE B
Example2: 5x(3+7) =80 sEADoB@7O8

« Vetky zatvorkové operacie, pred stlagenim tiaidla = je mozno preskodi.
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Vypoéty so zlomky

. Ak celkovy pocet ¢islic hodnoty zlomku prekroéi 10 (celé &islo, Citatel a menovatel) buda
hodnoty automaticky zobrazované ako desatinné cisla.

. Priklady (Example):

13

Example 1: %+

-] 15
2@ @5 3.5, ]

1 2 11
Example 2: 3 g 1? = 475
kICORRCORY |
1@26038 4411412,
Example %=% FICaRS - |
Examplud:-;—+1.8=2.1 1263168
+ Vysledky vipoctov so zmiesanymi ziomkami a s desatinnymi Gislami si vzdy ako

desatinné Gisla.
Prevod desatinnych Eisiel na zlomky a naopak
+  Naprevod desatinnych cisiel na zlomky popr. naopak postupuite podra nasledujicich
pokynov.
«  Venuijte prosim pozornost tomu, ze prevod méze trvaf 2 sekundy alebo aj dihsie.
. Priklady (Example):
Prevod desatinného Gisla na Example 1: 2.75 = 2 - (Decimal -» Fraction)

zlomok 2758
w
Example 2: B += 0.5 (Fraction == Decimal)

Prevod zlomku na desatinné ¢islo 2

oz
R
=

Prevod zmiesaného zlomku na nepravy zlomok a naopak

. Priklad:
TR,
Example: 12 - =
PR e
e —en
S@ 1,23 ]
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Na $pecifikovanie formatu zobrazenia v pripade, ked je vysledok vypoctu vacsi ako 1 mozete
pouzit obrazovky Disp.

Na zmenu formatu zobrazenia zobrazte na displeji opakovanym stlacanim tlacidla MODE
(idaje podla nasledujiceho obrazku:

Disp
1

Stlacenim tlacidla 1 zobrazte vybrat obrazovku.

Na vyber pozadovaného sposobu zobrazenia stlacte tlacidlo 1 (zobrazenie zmiesaného
zlomku a b/c) alebo tlacidlo 2 (zobrazenie nepravého zlomku (d/c)).

Ak bude vybrany format zobrazenia d/c dojde pri pokusu o viozenie zmiesaného zlomku ku
vzniku chyby.

Percentudlne vypoity

Priklad 1: V§poget 12% z 1 500 1500 EB 12 @R )
Priklad 2: Vypocet kofko % z 880 je 660 660 B8 880 =1 (%]

2500 B 15 1) [%] EB

Priklad 3: Pripocitanie 15% ku 2 500

Priklad 4: Odpogitanie 25% od 3 500 3500 B 25 a2
Priklad 5: Odpoéitanie 20% od stétu Gisiel 168 €3 98 €3 734 B () o) 6 (R)
) () B3 2069 () &3

Ako je vidno z posledného prikladu, ak budete chciet pouzit aktualne hodnoty paméte vysledkov,
je potrebné preradenie hodnoty z paméte vysledkov premennej a jej nasledujlice pouzitie
(dovodom pre toto je ulozenie vysledkov vypoctu do paméte vysledku vypoctu po stlaceni tlacidla
% a pred stlacenim tlacidla - (minus)).

Priklad 6: Ak bude ku vzorke o hmotnosti 500 g pridané dalsich 300 g vzorkou aka bude
percentualna hodnota takto ziskaného vzorku vzhfadom k povodnému?

300 K3 500 fr] (%)

K akej percentuéinej zmene déjde po zvé¢seni hodnoty 40 na hodnotu 46 alebo na hodnotu
487

46 B 40 () (%)
ENCHENENCIEY = |

Vynm:ty stupiiov, minit a sekiind

Kalkulator umoziuje vypoéty so stupiiami, mintitami a sekundarni a prevod medzi hodnotami
v Sestdesiatkovej a dekadickej ststave.

Priklad 1: Prevod dekadickej hodnoty na 2.258 na Sestdesiatkovu a potom opat na
dekadicku.

comm
2°15°28.8
=
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Prikiad 2:  Prevedenia nasledujiceho wpostu:  12°34'86" x 3.45
12E034C) 56 I EM 345 B0 | 43°24°31.2

FIX, SCI a RND

Pre zmenu nastavenia poctu desatinnych miest, poctu vyznamnych cislic a exponencialneho
formatu ia zobrazte na displeji ym stiacanim tlacidia MODE nasledujuce
udaje:

Fix Sci Norm

Stlacenim tlacidiel 1,2 alebo 3 vyberte funkciu, ktori chcete zmenit:

1 = pocet desatinnych miest
2 =pocet vyznamnych cisiel
3 = exponencialny format zobrazenia

Priklad 1:200: 7x14

S
g T
specifikuje pocet desatinnych miest (3) 80+--- CLI(Fix) (2] 400.000

0878 28.571
pokraGovanie interného vypoétu pri pouziti 12 miest 148 400.000

V nasledujicom priklade je rovnaky vypocet prevadzany pri pouziti $pecifikovaného poctu
desatinnych miest:
o0E78 28.571
interné zaokruhlenie ) (o) 28.571
[ RES =] 399.9

Tiagidlami (] «+++ () (Morm) (1) wmaste specifikaciu postu desatinnych miest.

Priklad 2: 1: 3, zobrazenie vysledku pri pouZiti dvoch vyznamnych miest:

e [2)(Sci) (2) 1 e B

Tiagidiami 5] +++++ () (Norm) (10 wmaite specifikaciu wznamnyeh miest.
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ypoéty pri pouziti pamite
. Tlacidlami MODE a 1 prepnite kalkulator do rezimu COMP.

Pamal vysledku
Stlacenim tlacidla = po viozeni hodnét alebo vyrazov automaticky aktualizovana bude pamat
vysledku a do paméite bude viozeny wsledok vypostu. o

+ Okrem toho je pamif aktualizovana stlacenim tlagidiel [#4), G, tiasidia (1) alebo
tlagidie! ) 78 nasledovanych stlacenim tlaidla A-F, M, X alebo Y .

. Na vyvolanie obsahu paméte vysledku stlacte tlacidlo Ans .

« Do pamate wsledku je mozno ulozif az 12 &islic pre mantisu a 2 ¢isla pre exponent
Pamat vysledku nebude iz av pripade, ked vy operacie bude chyba.

Pnslnpne vyposty
Vysledok vypoétu ulozeny v paméti visledku je mozno pouzif na dalsi wpodet a to ak bude
pouzity ako prvy z hodnét viozenych pre vypocet.

«  Venujte prosim pozornost tomu, ze stladenim funkéného tlagidla pri zobrazenom obsahu
paméte vysledku déjde k odpovedajicej zmene hodnoty ulozenej v pamati.

* Vysledok wpoétu je tiez mozno pouzit s nasledujicimi funkciami typu A ako s funkcie,
@, %% &7, xI, DRGP), +, =, A, 47", %, =, nPrand nCr. (or = alebo)

Nezawsla pamat
Hodnoty mézu byt vkladané priamo do paméte , pripoéitavania alebo odpoéitavania k / od
obsahu paméte. Nezavisla pamét je vhodna predovsetkym na vypocty celkovych stictov

«  Nezavisla pamét pouziva rovnaki oblast paméte ako premenna M

+ Navymazanie obsahu nezvislej paméte stlacte tiacidla [0 ] firt] [§70] [1] .

«  Priklad (Example):

2+9=32 23 €3 9 == 610 (8) (M+)
63 -6=47 53 B 6 (]
~) 45 x 2 = 90 4563 269 10
(Total) -11 0 (M+)
(Total = celkom)
Premenne

K dispozicii je 9 premennych (A - F, M, X aY), ktoré mozu byt pouzivané pre vkladanie dat
konitant, wsledkov ainych hodnét.

« Na dat yh uréitej i pousite tiacidla () (., (priklad
vymazania dat priradenych premennej A).
. Pri pozi ie vSetkych dat pri ych véetkym premennym pouzite nasleduj-

tci postup tlacldle\ =) o) Iil(Mcl)

*  Priklad:

1032 + 23 =84
1932 - 28=6.9
193265 69 (D) B3 238

[Cofes] - i) =
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Wlll)ﬂv vedeckych funkeii
Na pouzitie vedeckych funkcii kalkulatora preprite kalkulitor do rezimu COMP (tlaidia
MODE a 1).

« Niektoré wposty mézu vyzadovat dihsi éas.

e ;=3.14159265359

6 / inverzné tri ické funkeie
. Na prepnutie pociatocnej jednotky merania uhlov na ziadanu zobrazte na displeji opakovanym
stlacovanim tlacidla MODE nasledujuce Udaje:

Deg Rad Gra
1 AR

. Potom ¢islicovymi tlacidlami 1, 2 alebo 3 vyberte Ziadanu jednotku na meranie uhlov.
;.
{90° = Elamans =100 grads)

. Priklady vypoctov (Example):

Example 1: sin 63°52'41" = 0.897859012
&5 - [ (Deg)
@632l 418

Examplo2: cos (- rac)- 05

(@) (Rad)
[Sfeslz]eal - Efoal -]

Examplo 3: cos™! 2 =025 (rad) (= - (rac))

[zl lalcaly - Plaal - [ - Tofeal - ]
Example 4: tan~' 0.741 = 36.53844577°

8
g

oz e
Hyperholické / inverzné hyperbolické funkcie
Priklady (Example):

Example 1: sinh 3.6 = 18.28545536 (w) () 36 B3

Example 2: sinh-' 30 = 4.094622224
() ) &) 30 B

Dekadické a prirodzené logaritmy / antilogaritmy
«  Priklady (Example):

+ Example 1: log 1.23 = 0.089905111 1238
+ Example 2: In 90 (= log, 90) = 4.49980967

[GF] -]

Ine=1 Bwoa

* Example 3: ¢'° = 22026.46579 =E 08
« Example 4: 10' = 31.6227766 = ) 158
+ Example 5: 2'= 16 248
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Druhé a tretie mocniny / druhé a tretie odmocniny / prevratené hodnoty / fakloridly / nahodné Eisla
1w / komhindcie a permutdcie
. Priklady 1 - 7 (Example):
Example 1: V2 + 13 x (5 = 5287196809
De@sACsa
Example 2: /5 + °/—27 = -1.200024053
) (¥ 5 6 ) () (O &) 27 D
Example 3: 77123 (= 1207) = 1.986647795

70128
Example 4: 123 + 30? = 1023 12363 301 B8
Example 5: 12° = 1728 iz

i)

Example 6: — =12

Os@sooe
Example 7: 8! = 40320 Elcmleal = |

¢+ Priklad 8: Generovanie nahodného ¢isla v rozsahu 0.000 az 0.999

&) &) B 0.664

lo.

Vidy bude generované in
«  Priklad 9 3n = 9.424777961 klonieal = |
. Priklad 10: Zistenie kofko roznych § i Gisiel moze byt inaciami

isiel 1 -7 (v ramci rovnakého Gisla sa nesmie opakovat rovnaké Gisla -napr. 1234 je povole-

né, 1123 nepovolené).
7 ] [ore] 4 20

. Priklad 11: Zistenie kolko réznych skupin po 4 ¢lenoch moze byt organizované vo vnutri
skupiny 10 jednotlivych &isiel.

10k 4 B
Prevody jednotiek na meranie uhlov
«  Tagidlami [ ] zobrazte na displeji nasledujiice idaje:
D Ri:G
«  Tiagidlami 1,2 alebo 3 bude y Udaj y na jucu jednotku uhlov.
*  Priklad: Prevod 4.25 radianu na stupne:

""Cﬂ[DBQ) -
4,258 ) (2)R) €3
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Prevod siiradnic (Pol (x, y) Rec (¢, 6))
. Vysledky vypoétu s automaticky priradzované premennym E a F.
+  Priklad 1: Prevod polarnych suradnic (r= 2, 6= 60) na pravouhlé suradnice (x y) (Deg)

x=7 R i 2 (D s0 (DA
y = 1.732050808 [cfua)

Na zobrazenie hodnoty x stladte tlacidla [ét] [E ], na zobrazenie hodnoty y stlacte tlagidla
&= m|.

+  Priklad 2: Prevod pravouhlych suradnic {1, ¥ 3) na polame suradnice () (Rad)
r=2 (CoRTnNCal un] - ]
6= 60 ®
«  Nazobrazenie hodnoty r stlaéte tlagidla ) [E] na zobrazenie hodnoty 6 tiagidlami (i) [F.

Vypoéty s inZinierskym zapisom
. Priklad 1: Prevod 56.088 metrov na kilometre:

— 586.088 x10° 56088 B3 B8
(kerm)

. Priklad 2: Prevod 0.08125 g namg

~ 81.25 x10-° 0.08125 B )
(mg)
On-1
Statistické vypoty

. Na $tatistické vypocty prepnite kalkulator tlacidlami MODE a 2 do rezimu SD.

«+  Pred viozenim dat je tlaidlami ] &tR) (1) (Scl) IE3 rotrebné vymazat pamiite Statistic-
kych vypoctov. -

+ Datavkladajte v tomto poradi; <¥-datas

*  Viozené data st pouzivané na vypocty hodnot #, Zx, 2, ¥, an a [Ir-1., ktoré mozete
vyvolat pouzitim tlacidiel uvedenych v nasledujicej tabulke:

To recall this type of value: Porlorm ihis key operation: | 10 recall ... = na vyvolanie hodnoty
[ m tohto typu;
e ) o] (2] Perform this key ... = pouZite tieto tiacidia
n (oer] (] (3]
x ) (53) (1)
XOn = () G20
XOn-1 ) () (3]

«  Priklad: Vypoditalte =1, On, &, M, ZX a ¥y pre nasledujice data:
55, 54, 51, 55, 53, 53, 54, 52
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Vrezime SD:
&= E® (D(sel) BB (Stat clear)
55 01

Opakovanym stlacanim tlacidla DT bude na displeji indikovany pocet viozenych dat (hodnota n).
54 [07) 51 BT 55 [@7]
&3 [07] [0T) 54 BT 52

Standardna odchylka vzorky feer]) (swa] (3] 2
Standardna odchylka populacie <] za
aritmeticky priemer i) (an]} (3] a
pocet dat e
siicet hodnot & = D B3
siicet druhych mocnin hodnét foore] [soum] [ 1] 2N

Unnznrnama pri vkladani dat
Dvoma stlaéeniami tlaidla DT budu rovnake data viozené dvakrat.

+  Na opakované viozenie rovnakych dét mézete tiez pouzit tiagidla [ (7, napr. pri pozia-
davke na 110 viozeni dat postupne stiaste tagidia 19() Br1) [5 ] 10} [0T

*  Vyssie uvedenu operaciu je mozno previest v lubovolnom poradi, nie je potrebné dodrzaf
poradie uvedené vo vyasie uvedenom priklade.

*  Vpocas vkladania dat alebo po jeho ukonceni je tlacidlami A alebo ¥ mozno datami pre-
chadzat. Ak budi rovnaké data viozené opakovane (pouzitim tlacidiel ] [3]), buda pocas
prechadzania datami zobrazené ako data tak aj pocet ich viozeni.

«  Zobrazené déta je mozné editovat, v pripade potreby je mozné viozit nové hodnoty a potom
stlacenim tlacidla = zobrazit novy vysledok za pouzitia nowych dat.

«  Pripoti na iie inej iokej operécie je pred jej zapocatim potrebné
stlacenim tlacidla AC vymazat displej.

Stlacenim tlacidla DT namiesto tladidla = po viozeni dat budu viozena data

reg\slrovane ako nové data a stara hodnota bude ponechana v povodnom stave.

Hodnoty zobrazené tlagidlami A alebo ¥ je v prlpade po(reby moino vymazat a to stiadenim
tlagidiel furr) [EL],. im dat buda posunuté vietky
nasledujice data.

«  Viozena déta st vkladané do pamite kalkulatora, po jej zaplneni bude na displeji kalkultora
zobrazené hlasenie ,DATA FULL" V podobnom pripade zobrazte na displeji opakovanym
stlacanim tlacidla = udaje zobrazené na nasledujucom obrazku.

EditOFF ESG
1 2

Stlagenim tlaidla 2 je mozné prerusenie vkladania dat bez registracie poslednej viozenej hodno-
ty, stlacenim tlacidla 1 bude viozena hodnota registrovana, nebude vak ulozena do paméte.
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«  Navymazanie posledne viozenych dat stlacte tlagidla fir]

. Po viozeni dat statistiky v rezimu SD alebo v rezime REG nie |e po prevedeni nasledujucich
operacii mozné zobrazenie alebo editovanie dat:
- po prepnuti kalkulatora do iného rezimu
- pozmene typu funkgie (Lin, Log, Cxp, Pwr, inv. Quad).

Vypocty funkcii

. Na prepnutie kalkulatora do rezimu REG na prevadzanie vypoctov funkcii postupne stlacte
tlacidla MODE a 3 .

o prepnuti kalkulatora do rezimu REG budu na displeji zobrazené nasleduijice Udaje:

Lin" Log“Exp *
1.0 ulve &

®lit=

*Pwr Inv Quad
v .

. Pre vyber ziadaného typu funkcie pouzite tlacidla 1. 2 alebo 3 :

D (U linearna funkcia
@ (Log): logaritmicka funkcia
@ (Exp) exponencialna funkcia
g % (Pw):  mocninova funkcia
(Inv) : inverzna funkcia
EIE Quad):  yadraticka funkeia
«  Pred vkladanim dat vzdy pouzite kombinaciu tlagidiel & ) (1] (Scl) B (wmazaniepaméte
Statistiky).
«  Privkladani dat r : <xdata> (1) <y-data> @D

Vypocitané hodnoty zavisia na viozenych datach, na vyvolanie vysledkov vypoctu pouzite
tladidla uvedena v nasledujicej tabulke:

[Tarseait s ype oivaive: | Feromisieyspmmion]  To recall ... = na vyvolanie hodnoty
= %Sm tohto typu;
= @ " R
1 el Perform this key ... = pouzite tieto
poel = o ) (0 tlacidla
Iy ) o () (7).
(=il oleil
x (=l
x0, ) o) (2)
Xy SmE
y = = ) D
b SmeE
YOur ) (sm) () (3D

Regression coeflicient A. | &3 (58) (5 (%) (1) koeficient funkcie A (B)
Regression coefficient B [
Regression calculation other than

wpodet inej ako

Correlation coefilent r | &3 50 0 05 (0 funkcie:
2] 5 EE 0 cle; .
3 o) ) ) 3 (1) | KOeficient korelacie
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V nasledujlcej tabulke s uvedené tlacidla na vyvolanie vysledkov kvadratickej funkcie:

To recall this type of value: Pertarm this key operation:
e ] [ssum) (3] (35 (1)
2y =) @) () 0m) (2)
b ) [ssum] (3] () ()
Regression coefficient C | &0 (v 2 () (3]
# ] (sua] (3] (3] (39 (1)
B2 ) el () () (B (2)
9 ] (sua) (3] (3] () (30

. Hodnoty uvedené vo vyssie uvedenych tabulkach mézu byt vo vyrazoch pouzivané rovnakym
o ako st pouzivané é

Linedrne funkcie -
. Na vypocet linearnej funkcie sa pouziva vzorec y = A+ Bx.
*  Priklad: Zavislost atmosférického tlaku na teplote:

‘Atmosphuric
Prevedte linearnu funkciu na uréenie vztahov funkcie a Tm“ 18’53‘;‘:’;51
korelacie pre data z tabulky ( = teplota; T T
Pressure = atmosféricky tlak;). Potom pouzije vzorec funkcie - e
pre zistenie atmosférického tlaku pri teplote 18 °C a teploty pri g‘;g 11?,11? :‘E:
tlaku 1 000 hPa. Na koniec koeficient (r?) 30°C 1014 hPa
a kovariancie.

Ex_{'—n o T
n=1

Vrezimu REG:

@(uin)
&) @) @) (Scl) B (Stat clear)
1031003

Opakovanym stlacanim tlacidia DT bude na displeji indikovany pocet viozenych dat (hodnota n).

@(uin
=) @) (@) (Scl) B (Stat clear)
101003 @D

1503 1005 €D
20(J1010 @D 250 101

300 101
koeficient funkcie A
koeficient funkcie B % g g g g
koeficient korelacie e i s e
3
atmosféricky tlak pri 18 °C TEEpErTe
teplota pri tlaku 1 000 hPa I E@mEEEOa
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koficient tendencie = pEeEOma

Kovariancia vzorky [0 ) o) () (30 60
fr (sa] (3] (W fun) (bon) (1)

) (s () (10 (D) €3

[ERRTLRCTHERY — REWHY = |

Lnuanlmlcka exponencidlna, mocninova a inverzna funkcia
Na vyvolanie vysledkov uvedenych typov funkcii pouzite rovnaké operacie s tlacidlami ako pri
linearnej funkii.
. Vzorce na vypoéty uvedenych typov funxcu SLé uvedené v nasledujucom prehlade:
+

- logaritmicka funkcia
- exponencialna funkcia y=A€®"(Iny =InA+Bx)
- mocninova funkcia y=Aa®(Iny =InA+Binx)
- inverzna funkcia y=A+B-x

Kvadraticka funkcia

+ Vzorec na vipocet kvadraticke; funkcie: y = A + B + Cu? .
*  Priklad: Prevedte kvadraticku funkciu na uréenie vztahov funkcie

dat uvedenych v tabulke. Potom pouzite vzorec funkcie pre odhad X Yi
hodnéty prixi = 16 a £ =pre xi = 20. 29 1.6
50 23.5
74 38.0
Vrezime REG: 103 46.4
(Stat clear = vymazanie dat statistiky) 118 | 480

() (@)(Quad)
(=) () (1) (Scl) B (Stat clear)

20171 1,667 50 [+) 23.5 07
74[1) 38.0 01 103 2] 46.4 1)

. ) 118J 48.0 @D
koe:jc!em :unkc{weg ) (3] (] (] (1] BB
koeficient funkcie @REEEDa
koeflcl_ent Ignkcwe c ) [ron] (] (] (30 BB
x1priy? =20 1OEEEEE
X2 priy2 = 20 20 (] (] (] (=] () (1] B3

Upnznmeme ku vkladaniu dat xE L
Dvomi stlaceniami tlacidla DT budu rovnaké data viozené dvakrat.

. Je tiez mozné opakované viozenie rovnakych dat - pouzitim tlagidiel &5 (L., napr. pre
viozenie dat ,20 a 30" pétkrat postupne stiacte tlagidia 20[7] 30 51 [3] &

. Vyssie uvedené vysledky je mozno ziskat v fubovolnom poradi - nie je potrebné dodrz,ame
wyssie uvedensho poradia viladania dt.

. Na vypocty funkcie sa vztahuja ia pre vkladanie a edito-
vanie dat na vypocet standardnych odchylky.
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Technickeé informacie

V pripade problému ...
Ak nebude vysledok vpoétu zodpovedat vami predpokladanému vysledku alebo v pripade chyby
prevedle prosim nasleduijtice kroky:
Na inicializaciu véetkych rezimov a nastaveni kalkulatora postupne stlacte nasledujice
tiacidla: 01 (B8] (2 )(Mode) B
2. Prekontrolujte pouzity vzorec wpogtu.
3. Prepnite kalkulator do pozadovaného rezimu a opakuijte vypocet.

Ak vyssie uvedenym postupom nebude problém odstraneny stlacte tlacidlo @

Kalkulatorom bude prevedeny autotest a v pripade vyskytu akychkolvek abnormalnosti budi

z pamate kalkulatora vymazané véetky data. Pred prevedenim testu je vhodné (napr. pisomnou
formou) zalohovat vsetky dolezité data ulozené v pamatiach kalkulatoru.

Chybové hlasenia

. Po zobrazeni chybového hlasenia na displeji kalkulatora bude kalkulator zablokovany.

«  Navymazanie chybového hlasenia stiaéte tladidio AV alebo tiagidlom < popr. » prejdite na
miesto vypoctu, na ktorom doslo ku chybe a odstrante problém.

Na displeji tora mozu byt é ice chybové hlasenia:

. MathERROR

Priciny:

- Vysledok wpoétu je mimo povoleny rozsah vypoétu.

- Pokus o prevedenie vypoctu za pouzitia hodnoty presahujici povoleny rozsah vstup-
nych hodnét.

- Pokus o prevedenie nelogickej operacie (ako je napr. delenie nulou)

Odstranenie:

- Prekontrolujte vstupné hodnoty wpoctu a zaistite, aby boli v rozsahu povolenych vstupnych
hodnét. Zviastnu pozomost venujte hodnotam ulozenych v pouzivanych pamétiach.

*  StackERROR
Priciny:
- Bola prekrocena kapacita zasobnika ¢iselnych hodnét alebo zasobniku prikazov.
Odstranenie:
- Zjednoduste vypocet. Zasobnik ¢iselnych hodnét mé 10 urovni, zasobnik prikazov 24.
- Rozdelte vpocet na polovice popr. na viac &asti.

. Syntax ERROR
Priciny:
- Pokus o prevedenie nelogickej matematickej operacie (ako napr. delenie nulou).
Odstrénenie:
- Tiagidiami < alebo » prejdite na miesto vo wpodte, na ktorom doslo ku chybe a potom
prevedte potrebné opravy.

«  Arg ERROR
Priciny:

- Nespravne pouitie argumentu.

Odstranenie:

- Tiacidlami < alebo P prejdite na miesto vo vypoéte, na ktorom doslo ku chybe a potom
prevedte potrebné opravy.
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Poradie operdcii

Jednotlivé operécie su 4 adzané v jicom poradi:

1. revody suradnic

2. Funkeie typu A - jedna sa o funkcie pri ktorych je najskor vkladana hodnota a potom je
stlagené funkéné tiagidlo

3. Mocniny a odmocniny.

4. ab/c

5. Skrateny format nasobenia pred nazvom paméte alebo nazvom premennej ako napr.
2m, 3e, 5A, A 4.

6. FunkciatypuB- pn tycmo iunkcu je najskor stlacené funkené tiadidlo a potom je vkladana

, In, &', 10, sin, cos, tan, sin™ “ cos™!,

tan bil)h cush tanh, sinh~", cosh~', tanh~" N |

hodnota, napr.

7. Skrateny formét nésobenia pred funkciami typu B, ako napr. £ * s AlDOZ gty
8. Permutécie a kombinacie.

9. Nasobenie a delenie.

10. Oditanie a s¢itanie.

Dopliujuce informéacie

«  Operacie s rovnakou prednosfou sii prevadzané sprava dolava.

. Ostatné operame sU prevadzané v smere z\ava doprava

«  Najskor st p operacie v

. Ak je stcasfou vypoctu argument, ktory je zapornym Gislom musi byf toto ¢islo uvedené
v uzatvorenych zatvorkach. So zapornym znamienkom sa pracuje ako s funkciou typu B
-z uvedeného dovodu je nutné venovat zvysenu pozornnsi vypoctom obsahujucim funkciu
typu A s vysokou prioritou popr. 4
Priklad:

(-2)=18
—2=_16
Zasobniky

Kalkulatorom st na prechodné ukladanie dat na ich spracovanie v poradi ich dolezitosti (vid vy$sie)
pouzivania oblasti paméate oznacované ako zasobniky - na ukladanie ¢iselnych hodnét zasobnik
¢iselnych hodnot, na ukladanie prikazov zasobnik prikazov. Kapacita zasobniku ¢iselnych hodnét
je 10 urovni, zasobnik prikazov ma 24 urovni. Pri pokuse o prevedenie operécie presahujucej
kapacitu zasobnikov bude znazornené hlasenie Stack ERROR.

Priklad:
2% ((3+4%(5+4)+3)+5)+8=
NHBILE
® 2|la||e]|s

0Py @ B8 o
EE | Vlavo: zasobnik ¢iselnych hodnot
3[4
[@]s | || Vpravo: zasobnik prikazov

Vypocéty st prevadzané v poradi ich priority, postupnym prevadzanim vypo-
&tov st zo zasobnikov postupne vymazavané ulozené hodnoty a prikazy.

16-SK ©FASTCRa.s,




Povolené rozsahy vstupnych hodndt

. Interne st vypocty kalkulatorom prevadzané pri pouziti 12 gislic.

+  Presnost vpoctu je spravidla +/-1 digit posledného zobrazeného miesta.

Functions Iny
sinx | DEG | 0= |x| =4, %10
RAD | 0= |x| 5785398163.3
GRA | 0= lx| =4.099999999% 10"
cosx | DEG | 0= |x| =4.500000008x 101
RAD | 0= |x| =785398164.9
GRA | 05 |x| =5.000000009x 10
tanx | DEG | Same as sinx, except when |x|= (2r-1)x90.
RAD | Same as sinx, except when |x|= (2n-1) x /2,
GRA | Same as sinx, axcept whan |x]= (2u-1)3100.
STX | 0 fyl 51
c0s'x
tan'x |0 |x| 59.999998989x 10®
SInhx | o | =230.2585082
coshx
sinhx | 0 |x| 54.999999998x10%
cosh'x |13 x 54.999999999x 10
tanhx | 0 |x| =9.999099999% 10%
tanh'x | 0= |x| =0.990999989x 10~
logx/inx| 0< x =9.999999999x 10°
10" |-9.999988989x 10 x = 99.99999999
¢' | -9.999999999x 10 = x = 230.2585092
Vx |osx<1x 10w
» Ixl< 1% 10%
x| < 1x 10 x %0
x| lxl< 1x 10
x 0= x = 69 (xis an integer)
SBF 0= n < 1%10", 0= r = n (n, r are integers)

15 (nlf{n-n)l} < 1x10"°

©FASTCRa.s. 17 -SK
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Functions Input Range Functions=funkcia;
0=n<1x10%, 0S r S n (n, rare integers) | INPut range=rozsah
15 [n{ri{n-r)1) < 1x 10 ‘e

Polx, 1) \x\ |y =9.898899899x 10

nCr

(x*+)") =9.999999998 % 10™
Recir, 0 c.;  =9.999999999x 10% same as sinx=Rovnake
f: Same as sinx ako sinx;
lal. b c < 1x10%
iy Q = b‘ [
|x<1%10% prevod dekadickych
o> | Decimal ~ Sexagesimal Conversions cisiel na Sestdesiatkove
0°0°0° = x| 50 anaopak
x>0 -1 x10'°<ylogx< 100
A x=0:y>0 4 n=celé dislo avsak:....

x<0: y=n, Zp37 (nis an integer)
However: -1x10'® <ylog|x|< 100

y=0:x%0
Y ~1x10"™<1/x logy< 100 =
V¥ |y=0:x>0 P n=celé ¢islo

y<0: x=2n+1,5" (n % 0; nis an intagar)
However: =1x 10" < 1/xlog|y|<100

Total of Integer, numerator, and denominator

able | must be 10 digits or less (including division | 2168t miest pouzitich pre
marks). vioZenie celého Cisla, ¢ita-

tefaa fa musi
N T S ITE T et
(REG) }y‘l( 11’(1?;; x";'é‘ﬁ'“""‘ ABr: delenia)

nj< 1x n%0,

Pre jednoduché wpodty je chyba vpoctu 1 digit posledného miesta (v pripade exponencialneho
zobrazenia je chyba vypoctu +/-1 digit posledného vjznamného miesta). V pripade postupnych
visledkov st chyby ssitania v désledku éoho dochédza k ich zvaéSovaniu (pat fe? aj pre infemé
postupné wpocty pri pouziti funkeit (), V¥, &1, N nPr, nCr atd.

V pripade blizkosti funkcii jednotlivého bodu a bodu obratu st chyby scitavania a mézu sa staf
velkymi.

Zmeny designu a

é bez
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Kétsoros kijelzd

FAOEHET

4543543387

A kétsoros kijelzé lehetévé teszi, hogy a szamitasi képletet és az
lassuk.

e  Afels sorban a szamitasi képlet lathato
. Az also sorban az eredmény lathatd

Ha a tizedes tort egész része harom szamjegynél tsbbdl all, harom szamjegyenként elvalaszto
jelzés lathato.

Elsd lépések
lizemmédok

A szamolas megkezdése elétt meg kell adni a megfelel6 beviteli modot az alabbi tablazat szerint.

Ilyen tipust szamitas Ezeket a gombokat kell Hogy belépjiink ebbe az
elvégzéséhez: megnyomni: lizemmodba:

Alapveté miveletek MODE 1 COmP

Szoras MODE 2 SD

Regresszios szamitas MODE 3 REG

«  Haa MODE gombot egynél tobbszér nyomjuk meg, a kijelz6n tovabbi bedllitasok jelennek
meg. Ezeket a beallitasokat az dtmutato azon részei targyaliak részletesen, amelyekben
a hasznélatukrol van sz6.

o Az oban ismertetett szamita é iikséges i od-bedllitast az egyes
szakaszok cime mutatja:

Statisztikai

Példaul:

szamitasok
Megjegyzés R
o l= [Ea) (2 ) iModa) B, gombok megnyomasaval vissza lehet allitani a szamitasi
modot és bedllitasokat az alabbi eredeti beallta
SZAMItAS| MOG: v .COMP
Szbg egység: ... . Deg (fok)
Exponencidlis kijelzés ~Norm 1
Tortek kijelzése: VA
Tizedes elvalaszté jel: . Dot (pont)
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Belrasl kapacités
A szamitasok beirasara szolgalo memoriateriileten 79 lépést lehet tarolni. Egy lépésnek
szamit egy szamgomb vagy alapmivelet gomb ( {3, LB, ) megnyomasa.
A SHIFT és ALPHA gomb megnyomasa nem szamit lépésnek, vagyis példaul a SHIFT
ALPHA kombinacio beirasa csak egy 1épés

«  Egyszamitasnal legfeliebb 79 Iépés adhato meg. Ha beiraskor elérkeztiink a 73-ik lépéshez,
akurzor 161, M™re valtozik, ezzel jelezve, hogy nemsokara betelik a memoria. Ha tobb
mint 79 Iépést szeretne beirni, két vagy tobb részben kell végrehajtania a szamitast

« Az Ans gomb megnyomasara el6jon a legutobb kiszamitott eredmény, amely a késbbi
szamitasoknal hasznalhato. Az Ans  gomb hasznalatarol bévebben az ,eredmény memoria”
fejezet szol.

Javités beirds kizben

o A<és P gomb segitségével mozgassuk a kurzort a megfeleld helyre!

« A DEL gomb segitségével tdrdljik a kurzor helyén talalhaté szamot vagy miveletet!

« A SHIFTINS gombok megnyomasaval valtsunk at beszuras kurzorral Amig a kijelzén
a beszuras kurzor lathato, a beirt szoveg a kurzor helyén beszurva jelenik meg.

o A SHIFTINS vagy = gombok megnyomasara a kurzor visszavaltozik.

VISSZalﬂlSZﬂS funkcid
Minden elvégzett miivelet esetében a késziilék eltarolja a szamitasi képletet és az eredmeényt
a visszajatszas memoriaban. A A gomb megnyomasara megjelenik a legutdbb hasznalt képlet
és a szamitasi eredmény. A A gomb ismételt megnyoméséra megjelennek az elézé képletek
és eredmeények, az Ujabbtol a régebbi felé haladva.

o Haavisszajatszas funkcio aktiv, a € vagy » gomb megnyomésa jelenik a
Képernys.

. Ha a € vagy » gombot kézvetleniil azutan nyomjuk meg, hogy a szamitast befejezt
adott szamitashoz tartozo szerkesztd képernyd jelenik meg.

« Az AC gomb megnyomasakor a visszajatszas memoria nem toridik, vagyis a legutébbi
szamitast az AG gomb megnyomasa utan is el lehet hivni.

. A visszajatszas memoria 128 byte terlileten tarolja a kifejezéseket és eredményeket.

. A visszajatszas memoriat az alabbi modokon lehet torolni:
Az ON gomb megnyomasa
A szamitasi mod és bedllitasok visszaallitasa eredetire: SHIFT CLR 2 (vagy 3) = .
Atvaltas egyik szamitasi modrol a masikra
A szamolégép kikapcsolasa

Hibakeresd
- Ha hiba tortént, a € vagy » gomb megnyomasara megjelenik a szamitas, és a kurzor ott
lathato, ahol a hiba van.

Osszetett kifejezések

Az Gsszetett Kifejezés olyan kifejezés, amely két vagy tobb, kettésponttal ( 1) elvalasztott révidebb
kifejezésbdl all.

«  Példaul:2+35 asa, majd az ény asa d-gyel:

,az

203 DM 48
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Exnnnenclalls Kijelzési formatumok
6g¢p legfeliebb 10 szamj tud jteni. Az ennél nagyobb értékek automati-
kusan szorzat formajaban jelennek meg. Tizedes tortek esetében ketféle formatum kozil lehet
valasztani, amelyek meghatarozzak, mikor jelenjen meg az eredmény szorzatkent.
*  Ackijelzési formatumok kéziila MODE gomb megnyomasaval lehet valasztani, addig kell
nyomogatni, amig a kivant formatumot megtalaljuk az alabbiak kazill:

Fix Sci Norm

. Nyomjuk meg a 8 gombot! A
aNorm 1 funkciot az 1 gombbal, vagy a Norm 2 funkciéta 2 gombbal.
NORM 1
ANorm 1 esetében a 10 szamjegynél nagyobb egész szamok és a 2 tizedes jegynél tobbet
tartalmazo tizedes tortek automatikusan szorzatként jelennek meg.

NORM 2
A Norm 2 esetében a 10 szamjegynél nagyobb egész szamok és a 9 tizedes jegynél tobbet
tartalmazo tizedes tortek automatikusan szorzatként jelennek meg.

*  Ahasznalati Gtmutatoban lathato dsszes példanal a szamitasi eredmények Norm 1 formatum-
ban lathatoak.

leedesnum és elvalaszlnlelek

ésa3sza é ji 6 a Ojf akijelz6
(artalmazo Disp” meniiben.
S e ehalnsztsiel bealita . . 2 [VioDE

gombot, amig meg nem jelenik az alabbi képernys:

Disp
|

o Jelenitse meg a bedllits képernyst! 1

« Az 1 vagy 2 szamgombbal valassza ki a kivant bedlitast!
1 (Dot):  Tizedespont, vessz6 elvalasziojelként
2 (Comma): Tizedesvesszb, pont elvalasztojelként

amod és beallita i a ak az eredeti
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Alapvetd miiveletek

Alapmiiveletek
Alapmiiveletek elvégzéséhez valassza ki a COMP izemmodot a MODE gomb segitségével

COMP

IODE 1

A szamitasokban szereplé negativ szamokat zarojelbe kell tenni.

sin—1.23 — &) ([DE 1230

A negativ itevét nem sziikséges zarojelbe tenni:

sin2.34 x 105 — () 234 BEED 5

1.példa:  3X(6X10F) = 1.5x 107
s@Bs@olsB

2.példa: 5x(9+7)=80 sSEADoEA7B

Az = gomb megnyomésa elétt minden zérdjeles miveletet el kell végezni.

Tortes miiveletek

Tortszamitas

Az értékek automatikusan tizedes tort formaban jelennek meg, ha egy tort szamjegyeinek
Bsszege (egész rész + szamlalo + nevezd + elvalasztd jelek) meghaladia a 10-et.

S T
1.példar = o2
R i e T
26036 1Bs8 13.15.
5 1 2 11
2. példa: — —
AhiE o te
308 1N 4 E3
1@ 26038 4a 11412,
sida: IR Sw
3. példa: — . — =R 4
o 2ER«B
4. példa: -;—H_asz.t 202168

Akdzonséges és tizedes torteket egyarant tartalmazé szamitasok eredménye mindig
tizedes tortként jelenik meg.

Atvaltas tizedes és kozonséges tortek kozétt (Decimal « Fraction)
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Az alabbi muvelet segitségével tizedes tortet lehet kzonséges tortre atvaltani és vissza.
Megjegyzés: az atvaltasi mivelet elvégzése akar két masodpercig is eltarthat.

1.példa: 2.75 = 2 -2 (Decimal —» Fraction)

1
2758 m
a
é 1
2. példa - = 0.5 (Fraction ~ Dacimal)
e
@

Atvaltas vegyes tortrol egynél nagyobb értékii tortre

Példa: ._ ..i

TN Y mmrercn
R [ —|

Ha a szamitas egynél nagyobb tortet eredményez, a kijelz6 beallitasait tartalmazo , Disp”
meniiben meg lehet adni a kijelzés kivant modjai

Atortek I itési formatumanak 4 a a MODE gombot,
amig el nem jut az alabbi képernydre:

Disp
1

Jelenitse meg a valasztoképerny6t! 1
Nyomja meg azt a szamgombot (1 vagy 2), amely megfelel a kivant beallitasnak.

1 (@) Vegyes tort
(dlc): Egynél nagyobb tort

Ha a d/c formatum aktiv, vegyes tért megadasakor a késziilék hibat jelez.
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Szdzalékszamitas

1. példa: 1500 12%-anak kiszamitasa (180) 1500 EB 12 b= (%)
2. példa: Annak kiszamitasa, hogy a 660 hany
szazaléka 880-nak (75%) 660 28 880 =1 (%)

[wr) [ ] K
3. példa: 2500 megnévelése 15%kal (2875) 2600 3 150 (=1 ER

4. példa: 3500 csdkkentése 25%-kal (2625) 3500 B8 25 bl (5] &

5. példa: 168, 98 és 734 bsszegének

csokkentése 20%-kal (800) 168 &3 98 € 734 R (Ans) o) 570 (
ELl PEE

Amint azt a fenti példa mutatja, ha sza & ¢ akarjuk
hasznalni az Ans memoriaban tarolt értéket, az Ans memorlaban tarolt értéket elészor hozza
kell rendelni egy valtozohoz, majd azt a valtozot megadni a szazalékos novelés/csokkentés
miveletnel. Erre azért van szilkség, mert a késziliék a % gomb megnyomésakor eltarol egy

az Ans még mielétt \atnank a = gombot
6. példa: Ha egy eredetileg 500 grammos 10z 300 grammot hozzatesziink, hany
szazalékos a novekedeés? (160%)
300 E3 500 () (%)

7. példa: Mekkora szazalékos névekedésnek szamit, ha 40161 46-ra valtozik egy érték? Es
ha 48-ra? (15%, 20%)

46 D 40 =) ()
EREHCHECHCIEY = |

Fnk perc, masodperc szamités

A késziilék segitségével atvaltasokat lehet végezni fokrol (6ra), percrél és masodpercrol
decimalis értékre és vissza.
1. példa: 2,258 atvaltasa 60-as alapu rendszerre és vissza

22508
@i [ 215288
o) 2258

2. példa: A kivetkezs szamitas elvégzése:

12°34'56" x 3.45
12 (34 56 1 ER 34583

FIX, SCI, RND

Amegjelenitett tizedes jegyek szaménak, a fontos helyi értékeknek vagy a szorzatkénti
a a MODE gombot, amig meg nem jelenik

Fix Sci Norm

akijelz6n az alabbi felirat:
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. Nyomja meg a kivant beallitasnak megfelelé6 szamgombot! (1 2 vagy 3)
1 (Fix) Aftizedes jegyek szama
2 (Sci) A fontos helyi értékek szama
3 (Norm) Kijelzés szorzatként

o 1.példa: 200:7 x 14= cooE37E B[ 400 |

(Harom tizedes jegyet ad meg)

(A bels6 szamitasok tovabbra is zo0E7 2 28.571
12 szamjeggyel torténnek)
[ RES =] 400.000

A kovetkezokben ugyanaz a szamitas torténik meghatarozott szamu tizedes jeggyel.
(Belso kerekités)

zo0 ER7 8 28.571
ey = | 399.99

«  AFix bealitas toriésshez nyomia meg a ] +++ (] {Norm) (1) gombokat!

. 2. példa: 1 = 3, a kijelzés keét fontos helyi értékig torténik (Sci 2)
wsomam[ 35

«  AScibedlitas tériéséhez nyomja meg a [ +++++ () (Norm) (1) gombokat!

(]

Szamolis memoridval [SLSLL»)

A memoriaban tarolt értékek éla amitasoknal valassza ki a COMP tizemmodot a
MODE gomb segitségével

CoMP MODE 1
Ans memria

. Ha egy érték vagy kifejezés beirasat kovetéen megnyomja az = gombot, a kapott eredmény
automatikusan tarolodik az Ans memoriaban, és annak korabbi tartalmat feliilirja.

. Az = megnyomasakor kapott eredményeken kiviil az Ans memoria tartalmat a kovetkezé
miiveletek is feliilirak: SHIFT %, M+, SHIFT M- vagy SHIFT STO és egy beti (A-tol F-ig, M,
XvagyY).

e Az Ans memoria tartalma az Ans gomb megnyomasaval jelenitheté meg.

o AzAns memdria egy 12 jegyi tizedes tort és egy két jegyii kitevé tarolasara képes.

* Az Ans memoria nem irodik feliil, ha a fenti gombkombinaciok megnyomasaval elvégzett
mvelet hibat eredményez.
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Euymasl kovetd szamitasok
Akjelz6n lathato (és az Ans memoriaban szereplS) szamitasi eredmeny hasznalhaté a kévet-
kez6 szamitas Kindulasi értékeként. Ha az eredmény lathato a kijelzn, és megnyomjuk
barmelyik miiveleti gombot, a kijelzén lathato érték Ans értékre valtozik, igy mutatva, hogy ez
az érték van jelenleg tarolva az Ans memoriaban

«  Aszamitasi eredmény hasznalhate egy kovetkez6 A tipusu figgvénnyel is

(%, 2, x, 2, DRG®), +, =, AQf), 7", =, nPrand nCr. ( és nCr.
Fiiggetlen memoria

. A memoriaba kozvetlenil lehet tarolni értékeket, és a tarolt értékekhez hozza lehet adni,
vagy ki lehet bel6liik vonni mas értékeket. A figgetlen memoria hasznos kumulativ 6sszegek
szamitasakor.

«  Afiiggetlen meméria ugyanazt a memoria-teriiletet hasznalja, mint az M valtozo.

. A fliggetlen meméria (M) torléséhez nyomja mega O SHIFT STO M (M+) gombokat!

*  Példa:
20+9=32 23 €3 9= 61 (M) (M+)
53 -6 =47 53 B 6 ()
~) 45 % 2 =90 45 B3 2 & {5
(Total) ~11 E) 0 (M+)
Valluznk

Kilenc valtozs adhaté meg (A-t61 F-ig, M, X és Y), a megadott érték pedig lehet tarolt adat,
&llando, eredmeny vagy egyéb érték
o Akdvetkezd miveletel térdlhetjik az egy konkrét vltozéhoz rendelt adatot:
0 SHIFTSTO A. Ez a miivelet az A valtozohoz rendelt adatokat torli
o Az ésszes vltozo térlésére az alabbi mivelet szolgal:
SHIFTCLR 1 (Mc)) =

. Példa:
1032 + 23 = 84
1932 + 28 = 6.9
193.2 bl £10 (A) 3 23 B
[ofes] - ] =

Tudoményos szamitasok [&EALILLi)

Alapmiveletek elvégzéséhez vilassza ki a COMP iizemmédot a MODE gomb segitségével
comP Mol

«  Bizonyos mivelet-tipusok elvégzése hosszi idét vehet igénybe.

«  Varjameg, hogy az eredmény megjelenjen a kijelzon, mielétt elkezdené a kovetkez6 szami-
tast!

. m = 3,14159265359
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/ Inverz
«  Azalapbedlitott szégmértékegység (fok, radian, gradiens) megvalioztathato a MODE gomb
segitségével. Nyomogassa a MODE gombot, amig meg nem jelenik a kijelzon az alabbi

felirat
Deg Rad Gra
s I R )

*  Nyomja meg a kivant szégmerte é megfeleld sza (1 2 vagy 3)
(90° = gladians = 100 grads)

1. példa: Example 1: sin 63°52'41" = 0.897859012

@ (Deg)
(=) 6365 52 (5 41 BB

2. példa: Example 2: cos (- rad)= 0.5
P (5l ) - (2] (Rad)
[Sle=lal: Hal-]

3. példa; Brampled:cos 22 025 (rae) (= - (r20))

) .- (2] (Rad)
FAEOY 2808 & B e

4.példa: Example 4: tan~' 0.741 = 36.53844577°

& - (3 (Deg)
0 & 0.741 63

Hiperbolikus / Inverz hiperbolikus fiiggvények

1. példa: sinh 36 = 18.28545536 [ (=) 36 B2

2. példa: sinh~' 30 = 4.094622224
(o) 3 @0 30 83

10-es és természetes alapi logaritmus / inverz logaritmus fiiggvény

1. példa log 1.23 = 0.089905111 1238
2. példa 1n 90 (= log, 90) = 4.49980967 _

e B

Ine=1 @@ e

3. példa €' = 22026.46579 =HH0e

4. példa 10'4 = 31.6227766 ) () 1.5 6

5. példa 2= 16 27148
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Négyzetgydk, kibaydk, gydk, négyzet, kb, reciprok, faktorilis, véletlen szamok, 7t, permutacid /

kombincid
1. példa V2 +3 x 5 = 5.267196909
ral¥-] + frakcl < Realk] = |
2. példa 35 +%=27 = ~1.200024053
[Cojtals] + IcTfvajasi-raun] - |
3. példa T[723 (- 123%) = 1.988647795
70 1238
4. példa 123 +300= 1023 123E330 8
5. példa 12°= 1728 izl B8
=
6. példa T
<-
Daasooea
7. példa 8l = 40320 g ) B

8. példa Véletlen szam generalasa 0,000 és 0,999 kozott
e=a

(A fenti érték csak egy példa. A véletlen szam mindig mas.)

9.példa  Gx - 0.424777961 el = |

10.példa  Annak meghatarozasa, hogy hany kiilonbézé, 4 sza (i szamot lehet az 1-
6l 7-ig terjedd szamj 6l 6 allitani, ahol egy négyjegyl szamon belil
asza nem isméto (1234 é de 1123 nem). (840)

7 ] o] 4 2

11.példa  Annak meghatarozasa, hogy hany kiilonb6z6 négytagu csoportot lehet 6ssze-
allitani 10 egyénbdl (210)

1048
Szbgmérték-atviltds
o A [ [ gombok segitségével jelenitsiik meg az alabbi menit:

D R G
1@, 3

e Az/1 2 vagy 3 gomb megnyomasara az érték a szamnak megfeleld mértékegyséare
valtozik
o Példa: 4,25 radian atvaltasa fokra

- (D(Deg)
4.25 ) e (23(R) B3
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Koordinata-dtvaltds (Pol x, y), Rec (r, ©)
o Aszamitasi é hozza 5dnek az E és F valtozohoz.

. 1. példa: Polaris koordinatak (r=2, 8=60°) atvaltasa derékszogli koordinatakra (x, y) (Deg)

x=1
y = 1.732050808

. x értékének megjelenitéséhez nyomja meg az RCL  E gombokat, y értékéhez pedig az
RCL F gombokat!

« 2.példa: Derskszogi koordinatak {1+ ) anaiasa potaris koordinatakra (r, 6) (Rad)
r=2 (CoRE s RCakTen] - ]
=60 (i)

«  rértékének megjelenitéséhez nyomja meg az RCL [E gombokat, § értékéhez pedig az RCL
F gombokat!

Szamitasok tudomanyos (normal)alakkal

. 1. példa: 56,088 méter atszamitasa kilométerre

— 56.088 x10° 56088 B3 [0
(km)
. 2. példa: 0,08125 gramm atszamitasa milligrammra
— 81.25 x10*° 0.08125 B 8
(mg)

Statisztikai szamitasok FSLilEEE)

Szords —SD—)

brasszamita 6 i mitveletek elvégzéséhez valassza ki az SD lizemmodot a
MODE gomb segitségével
sDb MODE 2

o Azadatbevitelt mindig a SHIFT GLR 1 (Scl) = gombok megnyomasaval, vagyis a statiszti-
kai memoria torlesével kezdjik!

*  Adatbevitelhez hasznaljuk az alabbi gombkombinaciot:
<x-data> DT

a -
+ Abevitt adatokbél Kiszamithato n, s 2%, 2X°, X, On s o, értéke,
amelyek eléhivhatoak az alabbi gombokkal:
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Erték Gombkombinacié
2 ) o) (1)
x ] rom (2]
n o) (Esem] (3]
i ol (5w) (D)
X0n @ () @D
P & () (3

On, X, M, ZX os ¥y® Kiszamitdsa a kovetkezs adathalmazra:
55, 54, 51, 55, 53, 53, 54, 52

SD médban:

&= E® (D(sel) BB (Stat clear)
55 1)

A DT gomb minden megnyomasara, amikor adatot visziink be, az addig bevitt adatok szama
(n érték) megjelenik a kijelzon).

54 [ET) 51 BT 55 [07)
g3 [07] (0T) 54 BT] 52 [T

Szoras (o,,) = 1,407885953 ) (] (3]

A populécié szérasa (c,) = 1,316956719 o) Da
Szamtani atlag (L) = 53,375 o] (sem] (1) 2D
Adatszam (n) = 8 = &=l =]

Az értékek bsszege (Xx) = 427 [=iEmisa) = |

Az értékek négyzetének osszege (Ex?) = 22805  fur] [ssum] [ 1] D

Hasznos tudnivalok adatbevitelhez

A DT DT gombkombinaci6 az adat kétszeri bevitelét eredményezi.

Ugyanazt az adatot tébbszoér is be lehet irnia SHIFT ; gombok megnyomasaval.
Ha a 110 adatot tizszer szeretné bevinni, nyomja meg a SHIFT ; 10 DT gombokat!
A fenti mi 6 is elvé 6

Adatbevitel kdzben, vagy ha az adatbevitel kész, a A és ¥ gombbal végig lehet
nézni a bevitt adatokat. Ha az adat tobbszor szerepel, és ezért a SHIFT ; gombok
segitségével tobbszor is bevittiik, ha végignézzik az adatokat, az adatot magat és

a gyakorisagot (adatok szamat) is lathatjuk, kilén képerny6kon (Freq).
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Akijelzén megjelend adatok szerkeszthetéek. Szilkség esetén Uj adatot lehet
megadni a régi helyett: irjuk be az 0j adatot, majd nyomjuk meg az = gombot! Ez azt
is jelenti, hogy ha mas miiveletet (szamitas, statisztikai szamitasok eredményének
megjelenitése, stb.) akarunk végrehajtani, elészér az AC gomb segitségével ki kell
|épniink az adatbeviteli képerny&rol.

Ha a kijelzon lathaté adatot atirjuk, és utana nem az ,hanema DT gombol nyom-
juk meg, a beirt adat Gj adatként kerll be a és a régi adat

megmarad.

Akijelzén lathatd adat térolhetd. Jelenitsiik meg a kivant adatot a A és ¥ gombbal,
majd nyomjuk meg a SHIFT CL gombot! Ha egy adatot kit6rltink, az utana kovet-
kez6 6sszes adat egy hellyel elérébb lép.

Abevitt adatok a sza 6gép memoriajaban tarolo . Ha a ,Data Full” tzenet
jelenik meg a kijelzén, a memoria megtelt, és nem lehet tébb adatot bevinni. Ha ez
torténik, az = gombbal jelenitse meg az alabbi képerny6t!

Edi tOFF ESC
1 2

A2 gomb meg 4 kiléphet az 6dbol az adatok.

nélkil.

Az 1 gomb megnyomasaval szerepeltetheti az adatokat mentés nélkiil. Ebben az esetben

a bevitt adatokat nem lehet megjeleniteni vagy megvaltoztatni.

Az utoljara bevitt adat torélheté a SHIFT CL gombbal.

Ha SD vagy REG tizemmodban statisztikai adatokat irtunk be, az alabbi miveletek elvégzését
kévetéen az egyes adatok tobbé nem jelenithetdek és valtoztathatoak meg:

Atvéltas masik tizemmadra

A regresszi6 tipusanak megvaltoztatasa (Lin, Log, Exp, Pwr, Inv, Quad)

Regresszids szamitasok CREG )

REG

0t tartalmazo statisztikai szamita égzésehez valassza ki a REG i odot a
MODE gomb segitségével
MODE 3
Ha belépiink REG 6 az ala hasonlé képernyoket lathatunk:

L Log“Exp *
1 q0.bERe

®=mit=

*Pwr Inv Quad
> . !
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o Amegfeleld

(1 2 vagy 3)

3 (Lin):
(@) (Log):
3 (Exp):
] (3] (Pwr)
] (2] {Inv):
(= (&) (Quad):

Az adatbevitelt mindig a statisztikai mem
Az adatok éhez az alabbi

logaritmikus

lineéris regresszio

regresszio

exponencialis regresszio
hatvanyfliggvényes regresszié
inverz regresszié

masodfoku regresszio

oria toriésével kezdjik! (SHIFT CLR 1 (Scl) =
aciot hasznaljuk: <xdata> (2] <y-data> @D

ismertetett

Aregressziés szamitas eredménye a bevitt erlekeklo\ filgg. Az eredmenyeket a kbvetkezo

lehet

Ennek az értéknek a kiszamitasahoz:

Ezeket a gombokat kell megnyomni:

2 B@O

= & G (2)

a & = (3

o & W

>l ) () () (2)

Ty (==ic0li Sl

i & m

X0, &3 (sn) ()

Ay [=loole)

y 5 [ 3 [

Y0, &) W () @)

YOur ) (see) () (3)
A regresszios egyiitthato SEEE0

: . . ) (o) ) () (D
B regresszios egyltthato

Nem al
Korrelacios egyiitthato r
{1l Sk STe)
% 3 ) () () (3] (1)
¢ ) (v) () () () (D

e Azalabbita lathatéak a

Ennek az értéknek a kiszamitasahoz:

Ezeket a gombokat kell megnyomni:

-
2y
=

C regresszios egytthato
D)
S
2

=)
EEEE)
o ) (5] () (3)
B EEE
1 o) (31 (5 ) ()
B EEEE
= (ves) ) B ) (D
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*  Afenti tablazatokban szerepl6 értekek hosszabb kifejezésekben is hasznalhatoak, tgy, mint

egy valtozo.

. Linearis regresszla

o Alinearis ios képlete a ko
y=A+Bx

. Példa: Légkdri nyomas es homérséklet

Homérséklet Légkori nyomas A Ilneans regresszlo szamitas segitségével
- a regresszios képlet adatai és
10 1003 hPa a kérnyez6 adatok korrelacios egyitthatoja.
15¢ 1005 hPa Ezt kévvetblen ? reg__ressziﬁs képle't segltsggé”vel
becslést k a 18° esetében fellépd
20° 1010 hPa nyomésrol vagy az 1000 hPa nyomas melletti
é 6l. Végul pedig kiszamitjuk a deter-
25° 1011 hPa minacios egyiitthatét és a minta kovarianciajat
30° 1014 hPa El’}'—ﬂ s ¥ ?
n=1 :

REG lizemmédban:

D(Lin)
& @ @ (Scl) B (Stat clear)
1031003 G0

Amikor egyes adatokat visziink be, és megnyomjuk a DT gombot, az addig bevitt értékek szama
(n) megjelenik a kijelzon.

153 1005
20(2J1010 @0 25 1011 @D
30(J 1014
A regresszios egyltthato = 997,4 EmEpeEOa
B regresszios egytitthato = 0,56 EEEEOe
r korrelaciés egyltthato = 0,982607368 [mlanl Sl Slel - )
Légkori nyomas 18 fokon = 1007,48 TEEEERODe
Homérséklet 1000hPa nyomasnal =
4,642857143 BN .
Determinacios egyiitthato = 0,965517241 ) (5] () (9) (30 ) 3
A minta kovariancigja = 35
) G () (3) 6
&) ) (3) B ) ) (1)
) (B 05 (D) (1) 3
(0 o] (ool () B 1D BB
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ésinverz

. Ezeket a regresszio tipusokat ugyanazokkal a gombokkal lehet kiszamitani, mint a linearis
regresszio esetében.
. Az alabbi tablazat tartalmazza a regresszios képleteket.

logaritmikus regresszio y=A+B-Inx
exponencidlis regresszio y=A-e*(ny=InA+Bx)
hatvanyfiiggvényes regresszié y=A-x®(ny=InA+BInx)
inverz regresszié y=A+B-1/,

. Masodfoku regresszié

«  Amasodfok regresszio képlete:

y=A+Bx+Cx*
*  Peélda:
x, y, A masodfoku regresszio-szamitas
segitségével kiszamithatoak
29 1.6 a ios keplet adatai
50 23,5 a kornyez6 adatokra. Ezt kévetéen
i a i6s képlet segitsége
74 38,0 kiszamithatjuk y becstilt értékeét, ha
x =16, § ésxbecsilt értéket,
103 46,4 hay,- 20.
118 48,0
REG tizemmodban:
(=) (3)(Quad)
) Gn) () (Scl) B (Stat clear)

2017 1.6 07 50 (1] 23,5 01

74[1) 38.007 103 (1] 46.4 1)
118D 48,000
A - SHhato - .35

) (] () () [0) BB
B EEMEEIa
C regresszios egyiitthato = -6,71629667 x 10° ) ) (3 (3 (3)
yhaxi16 = -13,38291067

B " _

X1 hayi 20 = 47,14556728 TEEEEEEa
x2 hayi 20 = 175,5872105 20 [ (s) (] (=] (=) (1)
20 @) EEEDe
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Hasznos tudnivalok adatbevitelhez

. A DT DT gombkombinacié az adat kétszeri bevitelét eredményezi.

. Ugyanazt az adatot tobbszor is be lehet iria SHIFT ; gombok megnyomasaval. Ha
példaul a 20 és 30" adatot Stszér szeretné bevinni, nyomja meg a 20 ; 30 SHIFT ; 5 DT

gombokat!

. A fenti mG 6 is

e Aszorasszamitasnal ismertetett iteli tudnivalok a 6 amita alis
érvényesek.

Miiszaki adatok

Ha gond van
Ha a szamitasok nem a vart ényt adjak, vagy hibaiizenet jelenik meg, hajtsa végre a kovet-
kez6 Iépéseket!

1 Alitsa vissza eredetire az sszes bedlltast a SHIFT CLR 2 (Mode) = gombok megnyomésé-
val!
2. Ellendrizze, hogy helyes-e a hasznalt képlet!

3. Lépjen a megfeleld izemmaodba és probalia meg Ujbol elvégezni a szamitast!

Ha a fenti Iépések nem jarnak eredménnyel, nyomja meg az ON gombot! A szamologép ilyenkor

ellendrzi sajat mikodeését, és ha barmilyen éget talal, torli a oriaban tarolt 6sszes
adatot. A fontosabb adatokat mindig jegyezze fel kiilon is!

Hibaiizenetek

Ha a kijelzén jelenik meg, a sza 6gép lezarja magat. A hil

nyomja meg az AG gombot, vagy a 4 vagy > gombbal jelenitse meg a szamitast Gjra és javitsa ki
a hibat! Részleteket lasd , Hibakeresd” cimszo alatt.

Math ERROR

e  Oka

o Aszamitas eredménye az engedélyezett tartomanyon kiviil esik

. Olyan fiiggvényszamitast kiséreltink meg, amely a beviteli tartomanyon kiviil es6 értéket is
tartalmaz

«  Logikailag hibas miveletet prébaltunk meg elvégezni (példaul osztas nulllaval)

e Teendd
. Ellendrizze a bevitt értékeket, és gy6z6djon meg réla, hogy a megengedett tartomanyon belil
vannak. Vegye figyelembe a memériaban tarolt és hasznalt értékeket is.

Stacks ERROR

. Oka
. A szamok vagy miiveletek tarolasara szolgalé memoriatertilet megtelt.

* Teendd

. Egyszerusitse a szamitast! A szamok tarolasara szolgalé memoriateriilet 10, a miveletekére
sz0lgald 24 rekeszt tartalmaz.

. Bontsa a szamitast két vagy tobb részre!
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Syntax ERROR

e Oka
«  Szabalytalan matematikai miiveletet probaltunk végrehaitani.

«  Teends
A <vagy > gombbal jelenitse meg a szamitési képletet, ebben az esetben a kurzor a hibat
tartalmazo helynél lathato.

Arg ERROR

e  Oka
«  Egy filggetlen valtozo alkalmazasa helytelen volt.

«  Teends
«  A<vagy > gombbal jelenitse meg a szamitasi képletet, és javitsa ki a hibas adatokat!

Miiveleti sorrend

A készilék a szamitasokat a kovetkezo sorrendben végzi el:

1. Koordinataatvaltas: Pol (x,y), Rec (r, 6)

2. A’ tipus( miveletek

Azok a miiveletek, amelyeknel az érték beirasa utan megnyomunk egy funkciégombot

J_S-rz..t xln!n

2.9

Szogmerték atvaltas (DRG » )

TR
3. Hatvanyozas és gydkvonas: T (AY),
4. ab/c
5. mtvagy e-t (természetes alapi logaritmus) tartalmazé réviditett formatumu szorzas, memoria-
val vagy valtozoval: 2w, 3e, 5A, mA, stb.
6. ,B"tipusu miveletek
Azok a miveletek, amelyeknél az érték beirasa el6tt nyomunk meg egy funkciogombot

v , log, In, &', 10%, sin, cos, tan, sin™', cos™',
tan~", sinh, cosh, tanh, sinh~!, cosh", tanh 7, ()

7. B tipust mi réviditett : 203, Alog2 sto.
8. Permutacio és kombinacio: nPr, nCr

9. x+

10. +,-

Az azonos prioritast miveletek elvégzése jobbrol balra haladva tortenik:
e'Iny™ 120 - e{In(y" 120)}

e  Atobbi mivelet elvégzése balrol jobbra torténik

. Elsokent a zar6 talalhaté mi keriilnek

. Ha egy szamitas negativ fiiggetlen valtozot tartalmaz, a negativ szamot zarojelbe kell tenni.
A negativ el6jel (-) ,,B” tipust miiveletnek szamit, ezért killondsen figyelni kell ra olyankor,
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amikor a szamitas magas prioritasu A" tipust miveletet, hatvanyozast vagy gyokvonast is

tartalmaz.
(-2)=16
Példa:
—-2*=-18
Memériahelyek
Asza 6gé nevezett 6 hasznal a szamértékek és miveletek
atmeneti tarolasara il és a szamita lvégzése kozben, prioritas
szerint. A numerikus rekeszek 10, a p: 24 szinten el. Stack ERROR

felirat jelenik meg, ha annyira osszetett szamitast probalunk elvégezni, hogy a memoriarekeszek
megtelnek.

)+ 3)+5) +8=

A szamitasok elvégzésére a ,Mlveleti sorrend” cimsz6 alatt ismertetett sorrendben kerdl sor. Ha az
adott szamitas megtortént, a hozza tartozé parancs és szamok torlédnek a rekeszekbél.
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Beviteli tartomény

Belsé szamjegyek: 12

: Altaldban a a4g a 10. szamijf él +1
Funkcio Beviteli tartomany
sinx DEG | 0= |x| =4.499999899x 10%
RAD | 0= [x| 5785398163.3
GRA | 0= x| s4. %10
cosx DEG | 0= |x| =4.500000008x 10"
RAD | 0= |x| =785398164.9
GRA | 0 x| =5.000000009x 10"
tanx | DEG | Mint sinx, kiveve ha [x]= (2n-1)x90.
RAD | Mint sinx, kivéve ha |x|= (2n-1) x /2.
[GRA | Mint sinx, kivéve ha Txl= (2n-1)> 100
i 0% x| =1
COS™'x
lan'x 0= |x| =9.999999999x 10*
sioke: 0= [x] 52302585092
coshx
sinh'x 0= |x| =4.999999899 % 10*
cosh'x 13 x 54.900090000x 10
tanhx 0= || =9.999999990% 109
tanh-'x 0= |x| =0.999909999% 10"
logx/inx 10< x =9.999999993 % 10*
10" -0.009000999x 10*=s x 5 99.99999999
¢ -0.099999999x% 10%= x = 230.2585092
X 0sx<1x10™
X lxf= 1% 10%
1ix [x|< 1% 10%; x % 0
NE x| 1% 10™
xl 0= x = 69 (X egész szam)
Py 0=n < 1%10, 0= r = n (n, r are integers)
15 (nllln=r)!) < 1x10'° (X egész szam)
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Funkcio Beviteli tartomany

0= n < 110", 05 r = # (s, r are integers)
1= [nl{ri{n=r)l}] < 1x101% (n ésr egész szam)
Pol(x, y)| | & vl =9.999998899x 10"

: (x2+)F) £9.099999999x 10*

Recir, )| |0= r 59.999999999 10%

6: mint sinx

nCr

lal b ¢ < 1x101%

s 0s=bc
[af=1x 10
ryt Decimalis - szexagezimalis (hatvanas alapu) atvaltas

0°0°0"= |x| 5999999°59°

x=0: =1%x10'%<ylogr<100

x=0: y>0

x<0: y=n, Zp5q (n egész szam)

De: -1x10'° <ylog|x|< 100
y>0:x%0

-1x10"™< 1/x logy<100

vy y=0: x>0

y<0: x=2n+1,75" (n % 0; n (" egész szam)
However: 110" < 1/xlog|y|<100

Az egész szam, szamiald és nevezo legfeliebb 10
(Ib."(‘ szamjegy lehet (beleértve az osztasjeleket is)

0 |x|= 1x10% X0, YOu, %, Fin¥0
(REG) |yl< 1x10% X@n=1, YTn-1, A, B, r:
|nj< 1x10'™ n#%0,1

Az egyes szamitasok esetében a szamitas pontossaga a 10. szamjegynél +1. (Ha

a szorzatkénti kijelzés be van kapcsolva, a pontossag az utolso fontos szamjegynél +1.)

A hibak egymast kéveté szamitasok esetében 6sszeadddnak, ezért ilyenkor jelentés
eltérést eredményezhetnek. (Ez igaz az egymast kovets belsé miveleteknél is, pl.

M), Ny, al, ", nPr, nCr )

Flggvények esetében az egyes pontok és a gorbe esetében a hibak szintén 6sszeadodnak,
és az eltérés jelentds lehet.
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Instrukcja obstugi

Przed i uzywania prosimy o i e sie z niniejsza
instrukcja, nawet jezeli uzywaja Panstwo produktu podobnego typu.

Prosimy zachowaé instrukcie do ewentualnego uzytku w przysztosci.

Podstawowe informacije o kalkulatorze

F4GHEIT
454354359617

lllysmellacz dwuliniowy

umozliwia j P wzoru obliczen (w gérnej linii) oraz jego
wyniku (w dolnej linii)
Jako znak oddzielajacy miejsca dziesigtne stuzy kropka.
Jesli pokazana liczba catkowita mantysy wyniku obliczen posiada ponad 3 cyfry, to po kazdych
3 cyfrach jest pokazywany znak oddzielajacy (przecinek)

Tryby kalkulatora
o Przed rozpoczeciem uzywania kalkulatora nalezy okreslic jego tryb - por. ponizsza tabela:
. . o weiskaj stopniowo Dzigki temu kalkulator
Aby wykona odpowiedni typ obliczen nastepujace przyciski: przefaczy sie na tryb:
Podstawowe obliczenia arytmetyczne ODE i 1 COMP
Typowe odchylenia ODE i 2 SD
Obliczenia regresii ODE i 3 REG

« Podczas weiskania przycisku MODE na wyswietlaczu zostana pokazane rézne oferty podane
w opisach funkciji
« Aby przetaczy¢ kalkulator na tryb wyjsciowy, weiskaj stopniowo przyciski

g kalkulatora:
Tryb ComMP
Jednostka stopni..... DEG (stopnie)

Wykladniczy format wyswietlania ... NORM 1
Format wyswietlania utamkow ab/c
Znak oddzielajacy ... . kropka

Tryb kalkulatora jest pokazywany w gomej czesci wyéwietlacza. Przed przystapieniem do
obliczen sprawdz ustawienia trybu kalkulatora oraz zastosowana jednostke katow.

Pojemnos¢ wejscia danych kallmlalnra

* Obszar pamieci ia danych wejsci umozliwia
przechowywanie do 79 ,,krokow Ueden krok = weisniecie przycisku numerycznego lub
arytmetycznego (3, B3 E3). Przyciski SHIFT lub ALPHA nie sa odczytywane jako ,krok"
W celu wykonania obhczema mozna ‘wprowadzi¢ do 79 krokow. Po wprowadzemu 73 kroku kursor
Zmieni sie na znak < ten sposéb o sie obszaru
pamieci stuzacego do przechowywania danych wejsciowych. Jesli w celu wykonania obliczenia
konieczne jest wprowadzenie ponad 79 krokéw, wowczas obliczenie nalezy rozdzielic np. na potowe.
Po wisnieciu przycisku Ans zostanie pokazany wynik ostatniego obliczenia, ktéry mozna wykorzysta¢
do kolejnego obliczenia. Wiecej informacii o tym przycisku znajdziesz w instrukcji ponizej.
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Poprawki w trakcie wprowadzania danych

* Weelu kursora na iednie miejsce na linii stuzacej do wprowadzania
danych, skorzysta z przycisku 3lub 4.

Aby usunag dane znajdujace sie na pozycii kursora, weisnij przycisk DEL .

Na skutek weiskania kolejno przyciskow SHIFT iINS  kursor zmieni sig na © - - po pokazaniu
tego kursora mozna na te pozycie wartosci. Aby ¢ sie na
pokazywanie ,normalnego* kursora, weisnij po kolei przyciski SHIFT oraz INS lub przycisk =

Ponowne pokazywanie wzoru i wyniku obliczen

« Wykonywane obliczenia (wzor i wynik) s3 zapisywane w pamieci, skad mozna je wywotac
poprzez weisniecie przycisku 5. Poprzez ponowne waisnigcie tego przycisku mozna przejrzeé
ostatnie obliczenia.

Poprzez weisnigcie przycisku 3lub 4 w trakcie pokazywania ostatniego obliczenia lub
bezposrednio po zakoriczeniu wykonywania obliczenia przetaczysz sig do trybu edyciji.
Pamie¢ ostatniego obliczenia nie zostanie usunieta na skutek weisniecia przycisku AC
Pojemnosé pamieci ostatniego obliczenia (jego wzoru i wyniku) ma 128 bajtow.

Pamieg ostatniego obliczenia zostanie usunieta na skutek:

iecia przycisku ON

iecia przycisku @ (o (3) B (or = lub)

- przetaczenia kalkulatora na inny tryb

- wylaczenia kalkulatora.

Wyszukiwanie miejsca obliczenia, w ktrym doszto do biedu
« Po wystapieniu btedu po wcisnigciu przycisku 3lub 4 kursor zostanie przesuniety na miejsce
w obliczeniach, w ktérym doszto do btedu.

Instrukcja ztozona

o Poprzez instrukcje zlozona rozumie sig wyrazenie, na ktore skiadaja sie dwa Iub wigcej matych
wyrazen, potaczonych za pomoca dwukropka (:).

o Przykiad: Dodaj 2 i 3, a nastepnie pomndz wynik przez 4.

El -+ EIroiwmicn) < Y = |

Ans =4
o
Wyktadniczy format wyswietlania

o Kalkulator umozliwia pokazywanie maks. 10 cyfr, wieksze liczby sa automatycznie pokazywane
w postaci notacii j. W wartosci dziesi mozna dokona¢ wyboru
sposrod dwu formatéw pokazywania, za pomoca ktérych mozna okreslic miejsce, gdzie zostanie
wykorzystana notacja wykladnicza.

« Aby zmieni¢ wykladniczy format wyswietlania weiskaj przycisk MODE (tyle razy, az na
wyswietlaczu pokaze sig informacja ustawien lig formatu wys
wykladniczego - por. rysunek:
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Fix Sci Norm

* Wecisnij przycisk 3, a nastepnie na ekranie stuzacym do wyboru formatu wyswietlania
wykladniczego wybierz poprzez weisniecie przycisku 1 format NORM 1 lub poprzez weisniecie
przycisku 2 format NORM 2 .

Format NORM 1
Ta notacja wykladnicza zostanie i a w celu ia liczb catych skfa-
dajacych sie z ponad 10 cyfr oraz dla wartosci dziesietnych z ponad 2 miejscami dziesigtnymi.

Format NORM 2

Ten format wyswietlania zostanie automatycznie wykorzystany w celu pokazania liczb catych
sktadajacych sie z ponad 10 cyfr oraz dla wartosci dziesietnych z ponad 9 miejscami
dziesietnymi.

Kropka dziesigtna oraz znaki oddzielajace

W celu okreslenia znakow, ktorych bedziesz uzywac w celu oddzielenia miejsc dziesigtnych oraz
jako znakéw oddzielajacych, skorzystaj z ekranu Disp

Aby zmieni¢ znaki w celu i miejsc dziesietnych oraz jako znaki
oddzielajace, weiskajac przycisk MODE , wyswietl na wyswietlaczu dane odpowiadajace
ponizszemu rysunkowi:

Aby pokazaé ekran wyboru, wisnij przyciski 1 i b
Zapomoca cyfr 1 lub 2 wybierz odpowiednie znaki

Inicjalizacja kalkulatora
Aby inicjalizowa¢ kalkulator (usuna¢ pamie¢ pokazywania ostatniego obliczenia, wyniku oraz
Zmiennych) weisnii koleino nastepuiace przyciski # ] (3 (All) B3

Podstawowe obliczenia
Obliczenia arytmetyczne
Aby przetaczyc kalkulator na tryb COMP do obliczen arytmetycznych, weisnij po kolei przyciski
MODE i 1.
« Wartosci ujemne wewnarz obliczenia nalezy podaé w nawiasach, np.
sin-1.23 - & (DE) 12300
« Znaku ujemnosci nie trzeba ujmowac w nawiasie, np.
sin 2.34 x 10° — () 2.34 @8 & 5
« Przykiady (Example):
Example 1: 3x(5X10%) = 1.5X10°
s@s@E A
Example 2: 5x(9+7) =80 sEA(DoEA7(08
« Wszystkie operacie w nawiasie przed wcisnieciem przycisku = mozna pominac.
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Obliczenia z utamkami

* Jesli ogolna liczba cyfr wartosci utamka przekroczy 10 (liczba catkowita, licznik i mianownik),
wowczas wartosci zostang automatycznie pokazane jako liczby dziesietne.

Przyktady (Example):

& g6
Example 1: ==+ —= —
R T T
2@ ®s8 13415,
1 2 1
Example 2:3 —+ 13- = 475
3k { (5 43
126038 4. 11a12.
Exampleus%=% Plc Py -
Example:‘l:%+lﬁ: 3 1@ 282168
« Wyniki obliczen z liczbami mi i liczbami dziesietnymi sa zawsze jako liczby

dziesietne.

Zmiana liczh dziesigtnych na utamki i odwrotnie

 Aby dokonac zmiany liczb dziesietnych na utamki lub odwrotnie nalezy postepowac zgodnie
2 ponizszymi poleceniami.

Proces zmiany moze trwa 2 sekundy lub diuzej.

Przyktady (Example):

Zmiana liczby dziesietnej

na utamek

Example 1: 2.75 = 2 % {Decimal — Fraction)
e
5
1

- 0.5 (Fraction == Decimal)

Zmiana utamka na liczbe Example 2:

dziesietn ,
. I Vi—rn
@ 05|
@ wel
Zmiana liczhy na utamek $ i
* Przykfad:
Example: |% xs %
1memaa
=
e
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W celu okreslenia formatu pokazywania wyniku obliczen w przypadku, gdy jest on wiekszy niz 1,
mozna skorzystaé z ekranu Disp.

Aby zmieni¢ format pokazywania wyniku, poprzez wciskanie przycisku MODE , wyswietl na
ekranie dane zgodnie z nastepujacym rysunkiem:

Disp
1

Po weisnieciu przycisku 1 zostanie pokazany ekran wyboru.

Aby wybra¢ odpowiedni sposob pokazywania wyniku, wcisnij przycisk 1 (pokazywanie liczby
mieszanej a b/c) lub przycisk 2 (pokazywanie utamka niewtasciwego (d/c)).

Po wybraniu formatu wyswietlania d/c w dku proby ia liczby mieszanej
dojdzie do powstania btedu.

Obliczenia z procentami

o Przykiad 1: Obliczenie 12%z 1 500 1500 E3 12 69 (%)
* Przykiad 2: Obliczenie ile % z 880 daje wynik 660 1500 EB 12 &5 (&)
 Przykiad 3: Dodanie 15% do 2 500 2500 ER 156 [%] K3
* Przykiad 4: Odjecie 25% od 3 500 3500 E¥ 25 G 2

Przyktad 5: Odjecie 20% od sumy liczb 168, 98 i 734 168 &3 o6 &3 734 B (s &= 6 (A)

D20

Jak widaé na podstawie ostatniego przykladu, jesli bedziesz cheiat wykorzystaé aktualna wartosé
pamieci wynikow, powinienes przenies¢ wartosé z pamieci wynikow zmiennej, a nastepnie

¢ ja. (Jest to apisaniem wynikow obliczen w pamigci wynikow obliczen
po waisnigaiu przycisku % i przed woisnieciem przycisku - (minus)).

* Przyktad 6: Jesli do wzoru z cigzarem 500 g zostanie dodanych kolejnych 300 g we wzorze,
jak bedzie wartos¢ procentowa uzyskanego w ten sposob wzoru w stosunku do pierwotnego
wzoru?
300 K3 500 B (%)
Do jakiej zmiany procentowej dojdzie po zwiekszeniu wartosci 40 do wartosci 46 lub do
wartosci 487

46 I 40 b (%)
[EHENECHEHEIN] = |

Obliczanie stopni, minut i sekund

« Kalkulator umozliwia wykonywanie obliczen ze stopniami, minutami i sekundami oraz
dokonywanie zmian pomiedzy wartosciami w systemie dziesietnym i szescdziesietnym.

« Przyklad 1: Zmiana wartosci dziesietnej 2.258 na szesédziesietna i z powrotem na dziesietna.

P —r
) () 2°15°28.8
o) 2.258
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* Przykiad 2: Wykonanie nastepujacego obliczenia: 12°34'58" x 3.45

1262346956 (2 B8 3.45 B | 43°24°31.2

FIX, SCI i RND

oAby zmienié ia liczby miejsc dziesi liczby znaczacych cyfr oraz
formatu wyswit ia, pokaz na wyswi T dane poprzez weiskanie przycisku
MODE :

Fix Sci Norm
1 2.8

o Poprzez weisniecie przyciskéw 1, 2 lub 3 wybierz funkcje, ktéra chcesz zmienié:
1 = liczba miejsc dziesietnych

2 = liczba miejsc znaczacych

3 = wykladniczy format wyswietlania

Przyktad 1: 200: 7 x 14

okres! liczbe miejsc dziesietnych (3) 20068762 1483
- T
e [1]{Fix) (3] 400,000

kontynuacia obliczania wewnetrznego przy =
uzyciu 12 miejsc a0E7B 28.571
148 400.000

W ponizszym przykfadzie znajduja sie takie same obliczenia wykonywane przy wykorzystaniu
okreslonej liczby miejsc dziesigtnych:

e e

“a

Za pomoca przyciskow &2 =+ (L (Normm) (1) usun okreslenie liczby miejsc dziesietnych.

wewnetrzne zaokraglenie

Przyklad 2: 1:3, ie wyniku przy dwu miejsc
e (2)(S00) (2) 1 60 3 60

Za pomoca przyciskow & ++++ (D (Norm) (2 usun okreslenie miejsc znaczacych.
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Ohliczenia z wykorzystaniem pamigci
« Zapomoca przyciskow MODE i1 przetacz kalkulator na tryb COMP.

Pamigé wyniku

* Poprzez wcisnigcie przycisku = po wprowadzeniu wartosci lub wyrazen dojdzie do
automatycznej aktualizacji pamigci wynikow, a do pamigci zostanie wprowadzony wynik obliczen.
Oprécz tego do aktualizacii pamieci dochodzi rowniez po weisnieciu przyciskow

&9 (5, 088, 69 ook B 1ub prayciskow B BT po kisrych nastepuie woisniecie
przycisku A-F, M, X lub Y.

Aby wywolac zawartosé pamieci wynikow, weisnij przycisk Ans

Do pamigci wynikéw mozna wprowadzi¢ do 12 cyfr w przypadku mantysy i 2 cyfry w przypadku
wyktadnika

Do aktualizacji pamigci nie dojdzie w przypadku, gdy wynik operaciji bedzie btedny.

Dostepne obliczenia

Zapisany w pamieci wynik obliczer mozna wykorzystaé do dalszych obliczen, jesli zostanie on
uzyty jako pierwsza z wartosci wprowadzonych w celu dokonania oblicze.

Prosze zwréci¢ uwage, ze na skutek weisnigcia przycisku funkgji przy pokazanej zawartosci
pamieci wynikow dojdzie do odpowiedniej zmiany wartosci zapisane] w pamieci

Wynik obliczen mozna rowniez otaczeniu z It funkcjami typu A,

W p
takimi jak funkcje (% &% &, X1, DRG®), +, =, A, %™, %, +,nPrand nCr. (or = lub)

Pamig¢ niezalezna

« Wartosci moga by¢ $ do pamieci, lub e do lub
od zawartosci pamieci. Pamie¢ niezalezna jest przeznaczona przede wszystkim do wykonywania
obliczen sum.

Pamie¢ niezalezna korzysta z tego samego obszaru pamieci co zmienna M.

Aby usunaé zawartos¢ pamieci niezaleznej, weisnij przyciski 0 Bl 10 (i)

Przyktad (Example):

20+9=32 23 €3 9 & 60 () (M+)
58 -6=47 5383 6%
-)45x2=80 4563 26 115
(Total) =11 G G0 (M)

(Total = razem)

Zmienne

« Do dyspozycii jest 9 zmiennych (A - F, M, XiY), kidre moga byé wykorzystywane w celu
przechowywania danych wartosci statych, wynikow i innych wartosci

W celu usuniecia danych przypisanych danej zmiennej skorzystaj z przycisku -0 ) 19 (K],
(przykiad usuwania danych przyporzadkowanych zmiennej A).

. w Sci usuniecia ich danych )
Zmiennym, uzyj nastepujacej kombinacii przyciskow: &4 &) (T(icl) B
o Przykiad:
1932 + 23 =84
1932 - 28 =69
193.26m) 610 (4) 3 23 &3

M e s B
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Obliczenia z wykorzystaniem funkcji naukowych

o Aby Z funkji przetacz iie na tryb COMP (przyciski
MODE i1).

o Niektore obliczenia moga wymagaé dhuzszego czasu.

o m=3.14159265359

Funkcje trygonometryczne/odwrotne do trygonometrycznych
« Aby przetaczy¢ wyjsciowe jednostki pomiaru katow na jednostki wymagane, wyswietl na
wyswietlaczu nastepujace dane poprzez wciskanie przycisku MODE :

Deg Rad Gra
SRR |

« Nastepnie za pomoca przyciskow numerycznych 1, 2 lub 8 wybierz odpowiednia jednostke
pomiaru katow.

FLs; 2
. (80" = Zradans = 100 grads)

o Przyktady obliczen (Example):
Example 1: sin 63°52°41" = 0.897859012

&8 [T (Deg)
() 63 526 41 B A

Example 2: cos (- rad)= 0.5
o () (Rad)

Example 3: cos™'

=0.25x (rag) (= %(rau))
8] -.--+ [2] (Rad)
[ziclxalcall - Pieal = ool - ofeal =

Example 4: tan~" 0.741 = 36.53844577°

& (Deg)
) (& 0741 )

Funkeje hiperboliczne/odwrotne do hiperbolicznych
« Przykiady (Example):
Example 1: sinh 3.6 = 18.28545536 () (=) 36 B
Example 2: sinh " 30 = 4.094622224
(= B @D 30
Logarytmy dziesietne i naturalne/antylogarytmy

« Przykiady (Example):
« Example 1: log 1.23 = 0.089905111 1238

« Example 2: In 90 (= log, 90) = 4.49980967

oo B

ne=1 W8

= Example 3: ¢° = 22026.46579 =E108
« Example 4: 104 = 31.6227766 b () 1.5 6
+ Example 5: 2' = 16 2148
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Potena druga i potena trzecia/pierwiastek kwadratowy i szescienny/odwrotnosci/silnie/
liczhy losowe/p/kombinacje i permutacje
« Przykiady 1 -7 (Example):
Example1: V2 + 3 x 6 = 5287196909
caky  IoakY < JralY =]
Example 2: 5 + =27 = ~1.290024053
) (s 0@ e
Example 3: "[123 (- 1237) = 1988647795

TEOD28
Example 4: 123 + 307= 1023 123E3 300 B
Example 5: 12°= 1728 zwa
Example 6 T‘ sl
ke

Di@\saome
Example 7: 81 = 40320 Flzleal - |

Przyklad 8: Generowanie liczby losowej w zakresie od 0.000 do 0.999

=) &) B 0.664

Za kazdym razem zostanie wygenerowania inna liczba.
Przyklad 9: An = 9.424777961 a3 ) I8
Przykiad 10: Sprawdzenie, ile roznych liczb moze zosta¢
z kombinacii cyfr 1 - 7 (w ramach jednej liczby nie moga sie powtarzac te same cyfry, np.
dozwolona jest liczba 1234, natomiast niedozwolona jest liczba 1123).

7 ) o] 4 IR
* Przyktad 10: Sprawdzenie, ile roznych grup 4 moze zostac

wewnatrz grupy 10 cyfr. 10 =
Zmiana jednostek katowych
«  Zapomoca przyciskow B B pokaz na wyswietlaczu nastepujace dane:

D R.G
b B S

« Zapomoca przyciskéw 1,2 lub 3 pokazana wartosé zostanie zmieniona na odpowiednia
jednostke katowa.
« Przyktad: Zmiana 4.25 radianow na stopnie:

« [T){Deg)
4,25 =) () (2)(R) B3
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Zmiana wspdtrzednych (Pol (x, y) Rec (e, 1))

Wyniki obliczen sa do zmiennych E i F.
Przyktad 1: Zmiana wspo (r=2, q = 60) nawspo
(x,y) (Deg)

r=1 ) e 2 (7] g0 (DB

v = 1.732050808 =0/

Aby zobaczy¢ wartosé x, weisnij przyciski (%8 [E ]| aby zobaczyé wartosé y, weisnij przyciski
(128

Przykiad 2: Zmiana 0 1 (1.48) na

(ri#) (Rad)

r=2 =10 OO0
=60 =0

Aby zobaczyé wartosé r, weisnij przyciski 2] [El, aby zobaczyé wartosé q, weisnij przyciski

@ (7).

Obliczenia z notacja inzynieryjna

Przykiad 1: Zmiana 56.088 metréw na kilometry:

— 56,088 x10° 56088 B3 (@)
{km)

Przyklad 2: Zmiana 0.08125 g na mg -

— §1.25 %10~ 0.08125 B3 [68)
(mg)

Obliczenia statystyczne

W celu wykonania obliczen statystycznych przetacz kalkulator za pomoca przyciskéw MODE
i 2 natyb SD.

Przed wprowadzeniem danych nalezy za pomoca przyciskow ) @m
pamieé obliczen statystycznych. .

Dane nalezy wprowadzaé w nastepuiacej kolejnosci: <t-datas 01

Scl) B usunae

. e dane sq do wykonywania obliczen wartosci /1 £t, T, T, (Tn
i 0n-1, ktére mozna wywotac za pomoca przyciskow podanych w ponizszej tabeli:
. - To recall ... = do wywotania wartos
To recall this type of value: | Perform Ihis key operation: ':gff;w © ‘ania wartoscl
pri Perform this key ... = skorzystaj
Ix z nastepujacych przyciskow
n
I
XTn
XOn-1

Przyklad: Oblicz @n—1, U, &, H. 2 2 gia nastepuiacych danych:
55, 54, 51, 55, 53, 53, 54, 52
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W trybie SD:
-

D(scl) B (Stat clear)
5501

Dzigki wielokrotnemu wciskaniu przycisku DT na wyéwietlaczu zostanie pokazana liczba wprowad-
zonych danych (wartosc n).

54 (0T 51 B7) 55 0T
53 [071] [0T) 54 0T 52

wzér standardowego odchylenia 9 ) (3) B
standardowe odchylenie w populacji &) (5] (2) B3
$rednia arytmetyczna ) () (1) 3
liczba danych ) ) (3] B3
suma wartosci = oW e
suma drugiej potegi wartosci ) () (33

Ostrzezenie dotyczace wprowadzania danych
« Po dwukrotnym wisnieciu przycisku DT te same dane zostana wprowadzone dwukrotnie
W celu ponownego wprowadzenia tych samych danych mozna rowniez skorzystac z przycisku

. np. w przypadku koniecznosci wprowadzenia 110 danych, weisnij po kolei przyciski
1108 ] 1001,

« Powyzsza operacje mozna wykona¢ w dowolnej kolejnosci, nie jest konieczne przestrzeganie

kolejnosci podanej w powyzszym przyktadzie.

W trakeie lub po zakorczeniu wprowadzania danych mozna je przegladac korzystajac

z przyciskow A lub V. Jesli te same dane zostang wprowadzone kilkakrotnie (za pomoca

przyciskéw [ [3)), zostana one podczas przegladania danych pokazane wraz z liczba ich

wprowadzen.

Pokazane dane mozna edytowac. W razie potrzeby mozna wprowadzié nowe wartosci,

a nastepnie poprzez waisniecie przycisku = pokazaé nowy wynik powstaty po wprowadzeniu

nowych danych.

« W razie koniecznosci wykonania innej operacji matematycznej przed jej rozpoczeciem nalezy

wyczysci¢ ekran poprzez weisniecie przycisku AC

Na skutek weisniecia przycisku DT zamiast przycisku = po dane zostana po ich wprowadzeniu

zarejestrowane jako nowe, a stara wartos¢ zostanie pozostawiona w pierwotnym stanie.

Wartosci pokazane za pomoca przyciskéw A lub W mozna w razie potrzeby usunaé poprzez

weisniecie przyciskow 7] [EL] . Na skutek usuniecia danych zostana w odpowiedni sposéb

przesunigte wszyslkie nastepujace po nich dane.

. dane sa W pamieci Po ieniu na ekranie
kalkulatora zos(ame pokazany komunikat , DATA FULL". W (aklm wypadku nalezy poprzez
kilkakrotne weisnigcie przycisku = wyswietlic na ekranie dane pokazane na ponizszym
rysunku.

Edi tOFF ESC
1 2

Wecisniecie przycisku 2 umozliwia i ia danych bez ] ia ostat-
niej wartosci. Weisniecie przycisku 1 j ie wartosci, ktora
nie zostanie jednak zapisana w pamieci
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oAby usunaé ostatnio wprowadzone dane, weinil przyciski #7) (€L)

« Po wprowadzeniu danych statystycznych w trybie SD lub REG po dokonaniu nastepuiacych
operaciji nie mozna pokazywac ani edytowac danych:
- po przetaczeniu kalkulatora na inny tryb
- po zmianie typu regresji (Lin, Log, Cxp, Pwr, inv. Quad).

Obliczenia regresji
oAby przetaczyé Kalkulator na tryb REG do obliczen regresji, wcisnij po kolei przyciski MODE i 3.
« Po przetaczeniu kalkulatora na tryb REG na wyswietlaczu zostang pokazane nastepujace dane:

I1.‘In Iéog 3Exp -

mlit=

*Pwr lnv Quad
i

« Aby wybra¢ odpowiedni typ regresiji, skorzystaj z przycisku 1.2 lub 3:

() (Lin):  regresa liniowa
(2] (Log): regresja logarytmiczna
(3] (Exp):  regresja wykladnicza
(] (1] (Pwr):  regresja potegowa
(=] (2] (Inv):  regresja odwrotna
(%) (3] (Quad): regresja kwadratowa
« Przed wprowadzeniem danych skorzystaj zawsze z kombinagji przyciskow ) €5 (3] (Scf) B3
(usuwanie pamieci statystycznej). i 7
Podczas wprowadzania danych postepuj w ponizszy sposob: <x-datas (1] <y-datax 07
Obliczone wartoéci sa zalezne od wprowadzonych danych. Aby wywota¢ wyniki obliczen,
skorzystaj z przyciskow podanych w nastgpuijacej tabeli:

o recall this ype of valt Perform this key operation: | 10 recall ... = w celu wywotania tego typu warto$ci;
et & ) (D) Perform this key ... = skorzystaj z nastepujacych
= ) ) (2) przyciskéw;

n &5
g BEwE 0
Iy ) (o) () ()
ey (=IcDl SlE)
i & W 5
X0, ) o) ()
Xy = )
3 & @) 05) (D
Y0, &) 6w ) @)
YOur ) (o) () (3
Regression coefficient A | &= () () () (1)
Regression coefticient 8 | &) (sw) (5) (5) (2)
alculation other i 6 regresji A (B)
Correlation coefficient | & ) (5 05) (3 obliczanie regresji innej niz kwadratowa;
% (&8 () (2 (211 | wspétezynnik korelacii
9 ) (o) (5) (5] () (2)

12-PL © FastCRa.s.



W ponizszej tabeli zostaly podane przyciski stuzace do wywotywania wynikow regresji kwadratowej:

Ta recall this type of value: Perform this key operation:
ey () () (2)
It ] (3] (3] () (3]
Regression coefficient C | B () ) () (3]

i o) [von] (3] (] () (1)

&2 ) (ive] () (B8) (B8) (2]

b i) {sve] (3] (35 () (3

« Wartosci podane w powyzszych tabelach moga byé wykorzystywane w wyrazeniach w ten sam

sposob, w jaki wykorzystywane sa zmienne.

Regresja liniowa

o & wncy AR
* Do obliczenia regresji liniowej nalezy wykorzystat wzor ¥ = A+ BX. [rempersture| Almosphieric
o Przykiad: Zal ienia g0 od - =:
; . o - " 10°C 003 hPa

 Przeprowadz regresje liniowa w celu okreslenia relacii regresii e R

i wspotczynnika korelacji dla danych z tabeli (Te = - ——

temperatura; Atmospheric Pressure = ciénienie atmosferyczne;). 200 LI e

Nastepnie skorzystaj z wzoru regresji w celu obliczenia ciémema 25_C 011 hPa

atmosferycznego przy 18 °C oraz 30°C 014 hPa

cisnieniu 1 000 hPa. W korcu oblicz wspotczynnik trendu (r?)

i kowariancii.

(}Jr)‘ —-n-x y)
n—1 .

erytne REG:

@(Lin

s @) D (scl) BI(Stat clear) =

e

Dzigki wielokrotnemu wciskaniu przycisku DT na wyéwietlaczu zostanie pokazana liczba wprowad-

zonych danych (wartos¢ n).

150 1005 B
25 1011 BD

301014 @
wspsiczynnik regresji A (IS EEn] = |
wspoiczynnik regresji B ) () () () (20 B9
wspdtezynnik Korelacii o] () () (3] (30
cisnienie atmosferyczne przy 18 °C 18 (3w () () () (2)

temperatura przy cignieniu 1 000 hPa
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wspotczynnik trendu @ @ @ @ E B
wzor kowariancii m @ @ E @ =

[EBRTIRETRERY — RASE] = |

Regresja log: i od

Regresja kwadratowa

W celu wywotania wynikow wymienionych typow regresiji wykorzystaj takie same operacje
2 przyciskami jak przy regresji liniowej.

Wzory obliczen wymienionych typéw regres]l sa podane w nastepujacym przegladzie:

- regresja logarytmiczna =A+B-Inx

regresja wykladnicza =A-e®'(Iny=1InA+Bx)

- regresia potegowa.. AxB(iny=InA+Binx)

regresja odwrotna ... =A+8B-

« Wzor obliczen regresji kwadratowej: v = A + Bt + Ca? Xi Yi
* Przykiad: Z regresje w celu $ relacji 29 16
regresi danych wymienionych w tabeli. Nastepnie skorzystaj z wzoru CEETE
regresji w celu oszacowania wartosci y pfi xi = 16 a & =dlaxi=20. -
74 38.0
W trybie REG ] ibd,
ybi :
(Stat clear = usuwanie danych statystycznych) 118 | 480
() (3)(Quad)
B (68 (T (Scl) B (Stat clear)
29[) 1,601 50 (1) 23,5007
74 (5] 38.0[01) 103 (1] 46.4 [01)
118 () 48.0 BT
wspotczynnik regresji A () [som] () (] (1] 2B
wspotczynnik regresii B [urr] (370 (o) () (2] BB
wspotczynnik regresji C ] [+vn] (] ] (3] I
yprzyxi =16 1 EERGE B
1 prayy1 = 20 20 i (5] (1) (] () (1] 1D
X2 przyy2 = 20 20 ) FEmDa

Ostrzezenie dotyczace wprowadzania danych

Po dwukrotnym wisnieciu przycisku DT te same dane zostana wprowadzone dwukrotnie.
Mozna réwniez ponownie wprowadzic te same dane poprzez wcisnigcie przyciskow

. np. w celu wprowadzenia danych ,20 i 30" wcisnij pieciokrotnie po kolei przyciski
20 (2] g0 b () 5 07,
Powyzsze wyniki mozna uzyska¢ w dowolnej jnosci - nie jest
podanej kolejnosci wprowadzania danych.
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« Do obliczer regresji maja
i edycji danych stuzacych do obliczenia standardowego odchylenia.

Informacije techniczne

W razie pojawienia sig problem

Jesli wynik obliczen nie bedzie zgodny z Twoimi pr: iami lub w razie jenia biedu,

wykonaj nastepujace kroki:

1. Aby inicjalizowac wszystkie tryby i ustawienia kalkulatora, wcignij stopniowo nastepujace przyciski:
=) (1A} (2] (Maode) B3 .

2. Sprawdz zastosowany wzor obliczen.

3. Przetacz kalkulator na odpowiedni tryb i powtorz obliczenia.

Jesli po zastosowaniu powyzszej procedury nie dojdzie do usuniecia bledu, weisnij przycisk (2]
Kalkulator dokona testu i w przypadku znalezienia jakichkolwiek nieprawidiowosci, usunie z pamigci
wszelkie dane. Przed wykonaniem testu nalezy archiwizowac (np. w formie pisemnej) wszelkie
wazne dane zapisane w pamieci kalkulatora.

Komunikaty o biedach

« Po pojawieniu sie iikatu o btedach na wyswi dojdzie do jego

« Aby usunaé komunikat o bledzie, wcisnij przycisk AV lub za pomoca przycisku « lub > przejdz
na miejsce obliczen, w ktérym doszto do btedu i usuri problem.

Na wyswietlaczu kalkulatora moga zosta¢ pokazane nastepujace komunikaty o btedach:

MathERROI

Przyczyny:

- Wynik obliczen jest poza dozwolonym zakresem obliczen.

- Préba wykonania obliczen przy wykorzystaniu wartosci przekraczajacej dozwolony zakres
wartosci wejsciowych.

- Proba dokonania nielogicznej operacii (jak np. dzielenie przez zero).

Usuwanie:
- Sprawdz wartosci wejéciowe obliczen i zadbaj o to, aby byly one zgodne z zakresem
wartosci wejsci Zwroé lna uwage na wartosci zapisane
w wykorzystywanych obszarach pamieci.
« StackERROR
Przyczyny:

- Zostata przekroczona pojemnosc skrzynek wartosci liczbowych lub skrzynki polecen.

Usuwani

- Upros¢ obliczenie. Skrzynka wartosci liczbowych ma 10 poziomow, a skrzynka polecen
ma 24 poziomy.

- Podziel obliczenie na potowe, ewentualnie na wiecej czesoi.

Syntax ERROR

Przyczyny:

- Proba i ni j operacii j (jak np. dzielenie przez zero).

Usuwanie:

- Zapomoca przyciskow <« lub P> przejdz na miejsce w obliczeniach, na ktorym doszto do
btedu, a nastepnie wykonaj potrzebne poprawy.

Arg ERROR

Przyczyny:

Niewtasciwe wykorzystanie argumentu.

Usuwanie:

Za pomoca przyciskéw < lub B przejdz na miejsce w obliczeniach, w ktérym doszto do biedu,

a nastepnie wykonaj potrzebne poprawy.
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Kolejnos¢ operacji

Kalkulator wykonuje operacje w
1. Zmiana wspétrzednych.
2. Funkcje typu A - s to funkcje, w dku ktérych najpierw jest wartosé,

a dopiero potem dochodzi do weisniecia przycisku funkci.
3. Potegi i pierwiastki
4. ab/c
5. Skrocony format mnozenia przed nazwa pamieci lub nazwa zmienne; jak np. 27, 3¢, 5A, A itd.
6. Funkeie typu B - w przypadku tych funkcji dochodzi najpierw do

woisniecia preycisku funki, a nastepnie do werowadzenia wartosci, np.
, N, log, In, €', 10%, sin, cos, tan, sin~', cos~",
tan~' s sh, tanh, sinh~", cosh™", tanh ™", {— )

7. Skrocony format mnozenia przed funkciami typu B, jak np. 21 3, Alog2 itd.
8. Permutacje i kombinacje.

9. Mnozenie i dzielenie

10. Dodawanie i odejmowanie.

Informacije dodatkowe

* Operacje o tym samym priorytecie sa wykonywane w kierunku od prawej do lewej strony.

+ Pozostate operacie sa wykonywane wkierunku od lewej do pmwej strony.

. 1e s3 operacje W nawi

. Jesh w sk(ad obliczen wchodzi argument, ktory jest liczbg ujemnq, woéwczas liczba ta musi zosta¢
podana w nawiasie zamknietym. Znak ujemnosci jest traktowany jak funka typu B. Z tego
wagledu nalezy zwrcié szczegoina uwage na obliczenia zawierajace funkce typu A o wysokim
prioryte ie na operacje ia do potegi i pie
Praykiac; ¢ 20 =18

rzyktad o= 18
Skrzynki
Kalkulator je w celu wania danych w celu ich przetworzenia

w kolejnosci zgodnej z ich waznoscia (por. powyzej) obszary pamieci oznaczane skrzynkami.

Do przechowywania wartosci liczbowych stuzy skrzynka wartosci liczbowych, a do przechowywania

polecen - skrzynka polecen

Pojemnos¢ skrzynki wartosci liczbowych ma 10 poziomow, a skrzynka polecen ma 24 poziomy.
proby ia operacii $¢ skrzynek pojawi sig komunikat

Stack ERROR.

Przykfad

)+ 3)+5)+8=

Na prawo: skrzynka polecer

Obliczenia sa wykonywan inosci zgodnej z ich priorytetem, na
skutek stopniowego wykonywama obliczen ze skrzynek sa stopniowo
usuwane zapisane wartosci i polecenia.
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Dozwolone zakresy danych wejsciowych
« Kalkulator wykonuje obliczenia wewngtrzne przy uzyciu 12 cyfr.
« Doktadnosc obliczen wynosi zazwyczaj +/- 1 cyfre ostatniego pokazanego miejsca.

Functions

sinx

DE

@

0= |x| 54.499999999x 10

RAD | 0= |x| 5785308163.3

GRA | 0= |x| =4, o*

cosx

DE

@

0= |x| =4.500000008x 10"

RAI

S

0= |x| 5785398164.9

GR

>

0 |x| =5.000000009x 10"

tanx

DEG | Same as sinx, except when |x]= (2n-1)x90,

RAD | Same as sinx, except when |x|= (2n-1)xn/2,

GRA | Same as sinx, except when |x]= (24-1)x100 ]

cos\x

sin'x

0= |xl =1

tan'x

0= || 9. 10%

sinhx
coshx

0= |x| =230.2585082

sinh'x

0= |y =4 x10%

cosh'x

15 x 54.999999999x 10%

tanhx

0s |x| =8 109

tanh-x

0s |x| =9 107

Togx/Inx|

0<x =9. 10’

10"

-8 1075 x = 99,

4

-9 10%= x = 230.258509:

X

0Sx<1x10™

a

rf 1% 10%

1x

lxl< 1x 10%; x ¥ 0

E

Jxf=< 1% 10"

xl

0= x = 69 (xis an integer)

nPr

0=in < 1x10", 0= r = a (n, rare integers)

15 {alf(n-r)l) < 110"

©FastCRa.s.
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Functions = funkcje;
Input range = zakres wejscia;

Same as ... = takie samo jak ...;
except when ... = z wyjatkiem,
gdy ...;

xisan ... = x jest liczba catkowita;
... are integers = .. sa liczbami
catkowitymi



inga Farge

0= n<1x10", 0= r = n (n, r are integers)
1= [nl{ritn=r)1)) < 1 x 10"

Functions = funkcje;
Input range = zakres wejscia;
... are integers = ... sa liczbami

2], [yl =9.999889999 % 10%
(x+y%) =9 10%

0= r 59.999998998x 107
6: Same as sinx

lal, b.c < 1x101®
0=bhe

l=1x10"™

same as sinx = takie samo jak sinx;

zmiana liczb dziesigtnych na
séaziesiotne | §

imal — imal Gy
0°0°0°s |x| 5999999°59°

250: 1% 10'0<ylogr<100
x=0: y>0

n = liczba catkowita

x<0: y=n, Zp57 (nis an integer) jednak: ..
However: —1x10' <yloglx|<100
y=0:x%0
i —1x10"<1/x logy< 100
3 |y=0x>0
3 1 i .
y<0.x=2n+1,5 (n % 0; nis an intager) n = liozba calkowita
However: =110 < 1/xlog|yl<100
Total of Integer, numerator, and denominatar| Suma miejsc wykorzystanych do
alle | must be 10 digits or less (including division| Wprowadzenia liczby catkowitej,
marks). licznika i mianownika musi wynosic
5 = dziesie¢ lub by¢ mniejsza (facznie
g = ao X0, yOu, &, §: 1% 0 ze znakiem dzielenia)
(REG) lyl< 1x10% XOn=1, Yora=1,A, B, r:
|nl< 1x10'® n¥0,1

W przypadku prostych obliczen btad dotyczy 1 cyfry miejsca (w
S ia liczby w formacie blad dotyczy +/- 1 cyfry ostatniego zna-
czacego miejsca). W wynikéw iowo biedy sa w wyniku

czego dochodzi do ich powigkszania (dotyczy to rowniez wewnetrznych obliczen wykonywanych
stopniowo przy uzyciu funkgji 2(x*), v v, xI, ¥, nPr, nCr itd.
Jesli funkcje pojawiaja sie w poblizu punktu lub punktu
sumowane i staja sie bledami powaznymi.

btedy sa

Zmiany designu i danych

18-PL ©FastCRa.s.



EN: The manufacturer reserves the rights to errors and changes in this user‘s manual without prior notice.
CZ: Virobce si vyhrazuje prévo na chyby a zmény v tomto navodu bez predchoziho upozoméni

SK: Vyrobca si vyhradzuje pravo na chyby a zmeny v tomto navode bez predchadzajiceho upozornenia.
HU: A gyért6 fenntartja az (itmutato eltéré ésvd asainak jogt eldzetes fi és nélkill.
PL: Producent zastrzega sobie prawo do biedéw i zmian w niniejszej instrukcji bez uprzedzenia.

EN - Disposal of Used Electrical & Electronic Equipment
The meaning of the symbol on the product, its accessory or packaging indicates that this product shall not be
reated as household waste. Please, dispose of this equipment at your applicabl collection point for the recycling

‘" o clecircal & electronic equipments waste. In the European Union and Other European countries which there
are separate collection systems for used electrical and electronic product. By ensuring the correct disposal of this product,
you will help prevent potentially hazardous to the environment and to human health, which could otherwise be caused by
unsutable waste handling of this product. The recyciing of materials will help conserve natural resources. Please do not
therefore dispose of your old electrcal and electronic equipment with your household waste. For more detailed information
about recycling of this product, please contact your local city office, your household waste disposal service or the shop
where you purchased the product.

E CZ - Likvidace pouZitych elektrickych a elektronickych zafizeni

Tento symbol na wyrobku, jeho prislusenstvi nebo obalu oznacuje, Ze s timto vrobkem nesmi byt zachdzeno
jako s domovnim odpadem. Vjrobek zlikvidujte jeho predanim na sbémé misto pro recyklaci elektrickjch a elek-

tronickych zafizeni, V zemich evropské unie a jinych evropskych zemich existujf samostatné sbémé systémy
pro shromazdovani pouZitjch elektrickych a elektronickych vyrobkd. Zajisténim jejich sprévné likvidace pomiizete prevenci
vzniku potencilnich rizik pro Zivotni prostfedi a lidské zaravi, ktera by mohla vzniknout nespravnym zachazenim s odpady.
Recyklace odpadovych materidll napoméha udrZeni pfirodnich zdrojii surovin - z uvedeného divodu nelikviduite prosim vase
stard elekirické a elektronickd zafizeni s domovnim odpadem. Pro ziskni podrobnjch informaci k recyklaci tohoto wyrobku
kontaktujte prosim pracovnika ochrany Zivotniho prostfedi mistniho (méstského nebo obvodniho) Gadu, pracovniky sbémého
dvora nebo zaméstnance prodejny, ve ieré jste vyrobek zakoupili

Tento symbol na vyrobku, jeho prislusenstve alebo obale oznacuje, Ze sa s tymto vyrobkom nesmie zaobchadzat
ako s domovjm odpadom. Vjrobok zlikvidute jeho odovzdanim na zbernom mieste pre recykldciu elekirickych
a elektronickych zariadent. V krajindch eurdpskej nie a v inych eurdpskych krajindch existujui samostatné zberné
systémy pre zhromazdovanie pousitych elekirickych a elekironickjch wyrobkov. Zaistenim ich spranej likvidécie pomozete
prevencii vzniku potencidlnych rizik pre Zivotné prostredie a udske zdravie, ktoré by mohli vzniknit nespravnym zaobchad-
zanim s odpadmi. Recykldcia odpadovich materialov napoméha udrzaniu prirodnjch zdrojov surovin - z uvedeného dévodu
nelikvidujte prosim vase staré elektrické a elektronické zariadenia s domovym odpadom. Pre ziskanie potrebnych informécif
K recyklacii tohto vyrobku kontaktujte prosim pracovnika ochrany Zivotného prostredia miestneho (mestského i obvodného)
tradu, pracovnikov zbemého dvora alebo zamestnancov predajne, v Kiorej ste vyrobok zakpil

E SK - Likvidacia pouzitych elektrickych a elektronickych zariadeni

HU - Feleslegessé valt elektromos és elektronikus készillékek hulladékként vald eltavolitasa (Hasznalha-
16 az Eurépai Uni6 és egyéb eurdpai orszdgok szelektiv hulladékayGjtési rendszereiben)
Ez a szimbdlum a készilléken vagy a csomagoldsén azt jelzi, hogy a terméket ne kezelje haztartdsi hulladékként.
‘mmmm’ Kériilk, hogy az elekiromos es elekironikai hulladék gyfitésére Kijeloit gyjthelyen adja le. A feleslegessé valt
termekének he\yes kezelésével segit megeldzni a kornyezet és az emberi egészség karosoddsat, mely bekGvetkezhetne, ha
nem koveti a hulladék kezelés helyes modjt. Az anyagok Gjrahasznositasa segit a természeti erbforrasok meg@rzésében.
A termék tjrahasznositdsa érdekeben tovabbi informaciGért fordufjon a lakshelyén az iletékeseknhez, a helyi hulladékgiyjts
szolgaltatshoz vagy ahhoz az iizlethez, ahol a terméket megvésarolta.

komunalny, lecz powinien byé dostarczony do odpowiedniego punktu zbiérki sprzetu elekirycznego i elekiro-
'mm— nicznego, w celu przerobu | odzysku odpadéw. W krajach Unii Europejskiej | w pozostatych krajach europejskich
3 odrebne systemy segregac odpadw przeznaczone do utylizacji sprztu elekirycznego i elekironicznego. Przez takie pro
ekologiczne zachowanie zapobiegaja Paistwo potencialnym negatywnym wplyworm na srodowisko naturalne oraz na zdrowie
ludzi, jakie moglyby wystapié w przypadku niewtasciwego procesu skiadowania tego produkiu. Przez zagospodarowanie
materialow oszczedzamy rowniez surowce naturalne. Aby uzyskac bardziej szczegétowe informacje na temat przerobu i od-
2zysku materiafow elektronicznych z tego produktu, prosze skontaktowac sig z urzedem miasta lub gminy, lokalnym zaktadem
utylizacil sprzgtu elektrycznego | elektronicznego lub ze sklepem, w KiGrym produkt zostat zakupiony.

PL - Utylizacja sprzetu i
Taki symool na produkcie lub na Jego opakowaniu oznacza 7e produkt nie moze by¢ trakowany Jako odpad
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EN: This symbol on the product, its accessories of packaging indicates that it conforms to European requirements
for equipment operated at low voltages and requirements for electromagnetic compatibility:

CZ: Tento symbol i virobku, eho piiluSenstvl nebo obalu ozratue, 22 pisto] odpovida eviopski pozadavkim

na zatizeni s provozem nizkého napstia na

SK: Tento symbol na vyrobku, jeho prislugenstve alebo obale oznaCuJe Ze pristro] zodpovedé eurdpskym poziaday-
kém na zariadenia s prevadzkou nizkeho napétia a poz na

HU: Ez a terméken, annak tartozékain vagy csomagoldsdn I&thaté szimbolum azt jelzi, nogy a készillék megfelel
az alacsony égen lizemel§ ések &s az a ében szabott
surbpai kbvetelményeknek

PL: Symbol nia produkcie, jego lub opak , 0znacza, 7e urzadzenie
spetnia europajskie wymogi dotyczace eksploatagji urzadzeri zasilanych Tiskin napiaciem oraz wymogi
2zgodnosci elekiromagnetycznej.

Manufacturer: FAST €R, a.s.
U Sanitasu 1621

CZ-25101 Riéany

Czech Republic
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